SI. No.	Corporation Limited (IOCL) proposes to appoint Retail Outlet dealers in ANDHRA PRADESH State as per Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	Site (in Sq.			ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	s indicated are based on market conditions and may undergo change. Applicants are advised to make the													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	d have firm offer for the same.	1	1	Tons I								1	
1		ANNAMAYYA		MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH ST	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding	0	3
2	Nuliveedu village on Konampeta-galiveedu road,SH	KURNOOL	Regular	100	ST	CFS	30 25	30 25	900 625	0	0	Draw of Lots	0	3
3	Within 1 KM from Adoni 1 town police station , Adoni Old Town (Adoni Municipal Limits) From Nagasamudram Gate to Dharmavaram On SH	SRI SATHYA SAI	Regular Regular	125	ST	CFS	30	30	900	0	0	Draw of Lots Draw of Lots	0	3
4	Within 3Km from Veera reddy statue towards Mydukur on NH	Y.S.R	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
5	Within 4KM from Renangivaram junction towards Addanki on Addanki- Koniki road(SH) not on NH.	BAPATLA	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
6	With in 5 KM from bhavani center, addanki town towards medarametla on LHS(SH)	BAPATLA	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
7	GUNDUGOLANU JN TO NARAYANAPURAM ON LHS ON NH16	ELURU	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
8	JEELUGUMILLI TO NERSUGUDEM ON NH 365BB	ELURU	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
9	WITHIN 3 KMS FROM SRI ABHAYANJANEYA SWAMY VAARI DEVASTHANAM TEMPLE, HANUMAN JUNCTION TOWARDS NUZVID	KRISHNA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	AFTER 1KM FROM BADAVA TOLL PLAZA TILL 4 KMS EITHER SIDE ON MYLAVARAM -TIRUVUR, NH 30	NTR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
11	WITH IN 2KMS, FROM AMBETKAR STATUE CIRCLE, VISSANAPETA ON VISSANNAPETA - PUTRELA- TIRUVURU ROAD, ON NH 216 H	NTR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
12	Petlurivaripalem to Lakshmipuram (On NH 544D)	PALNADU	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
13	Vemulapadu Village, Hm Padu Mandal On Ollapalem-Vemulapadu Road (SH)	PRAKASAM	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
14	Between Mile stone 236 to 243 (Chirala -Ongole)on NH 216	Prakasam	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
15	On Podalakur-Rapur Road , Within 2KM distance from Podalakur-Sydapuram Road Junction.	SRI POTTI SRIRAMULU NELLORE	Regular	115	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
16	NALLAKUNTA VILLAGE (YATAPAKA MANDAL) TO NELLIPAKA ON NH (IN ANDHRA PRADESH)	ALLURI SITHARAMA RAJU	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
17	WITHIN 3KM FROM CHINTURU BRIDGE TOWARDS RAJAMUNDRY ON SH (ON BADRACHALAM-RAJAMUNDRY ROAD)	ALLURI SITHARAMA RAJU	Regular	220	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
18	BETWEEN JEYPORE ROAD JUNCTION (ARAKU) AND KOTTURU VILLAGE, ANANTHAGIRI MANDAL ON NH- 516E	ALLURI SITHARAMA RAJU	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
19	Between Rinthada Village, Gudem Kothaveedhi Mandal and Chinthapalli village Junction, Chinthapalli Mandal on NH-516 E	ALLURI SITHARAMA RAJU	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
20	Between Vurisingi village Junction, Chinthapalle Mandal and Lambasingi Junction, Chinthapalle Mandal on NH-516 E	ALLURI SITHARAMA RAJU	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
21	ANJANEYA SWAMY TEMPLE AT DUBACHERLA TO VEERAVALLI TOLL PLAZA AT ANANTHAPALLI ON NH16	EAST GODAVARI	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
22	P LEVIDI TO GUMMALAKSHMIPURAM ON SH	PARVATHIPURAM MANYAM	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
23	Nadukuru Village to Veeraghattam Village (in Veeraghattam Mandal) on SH	PARVATHIPURAM MANYAM	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
24	Within 4 Kms from Kanyaka Parameshwari Temple, Parvathipuram towards Bobbili on SH	PARVATHIPURAM MANYAM	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
25 26	Within 2 Kms from Badangi towards Ramabhadrapuram on SH	VIZIANAGARAM VIZIANAGARAM	Regular	140 130	ST ST	CFS CFS	30 30	30 30	900	0	0	Draw of Lots Draw of Lots	0	3
27	Within 4.5 kms from Y Junction near V T Agraharam (Vizianagaram) towards Bheemasinghi on SH	VIZIANAGARAM	Regular Regular	140	ST	CFS	20	20	500	0	0	Draw of Lots	0	3
28	Alluri Junction to Phoolbagh Via 100 ft Ring Road in Vizianagaram Town Ramkonda Village,Tuggali Mandal (Not On NH/SH)	KURNOOL	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
29	KOPPURAVAURU VILLAGE (ON ROAD CONNECTING KOPPARAVURU AND KANTHERU), PEDAKAKANI MANDAL (NOT ON NH)	GUNTUR	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
30	FROM SUBREGISTRAR OFFICE TO SUBRAMANYASWAMY TEMPLE IN GANAPAVARAM, GANAPAVARAM MANDAL ON GANAPAVARAM - PIPPARA ROAD .	WEST GODAVARI	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
31	PENTAPADU, PENTAPADU MANDAL ON K PENTAPADU ROAD	WEST GODAVARI	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
32	Guntakal to Nakkanadoddi Village on NH-67	ANANTHAPURAMU ANANTHAPURAMU	Regular	160 110	OBC OBC	DC CC	35 25	35 25	1225 625	32 32	95 12	Draw of Lots Bidding	15 30	4
34	Between Guntakal Bus Stand And Rural Police Station On 60 Feet Road, Guntakal Municipal Limits Within 3 Km(RHS) From Guntakal Hanuman Circle Towards Aluru on SH	ANANTHAPURAMU ANANTHAPURAMU	Regular Regular	105	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
35	On LHS Within 2 Km From Kasapuram Police Station on Kasapuram to Guntakal road on SH	ANANTHAPURAMU	Regular	110	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
36	Within 5Km from Arjas Steel Limited, Tadipatri-Kadapa Road on NH67	ANANTHAPURAMU	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
37	On Main Bazar Road, within Tadipatri Municipal Limits	ANANTHAPURAMU	Regular	105	OBC PH	CC	25	25	625	32	12	Bidding	30	4
38	Within 1KM on either side of Government Degree College, Tadipatri	ANANTHAPURAMU	Regular	120	OBC PH	DC	25	25	625	32	55	Draw of Lots	15	4
39 40	Venkatareddy Palle to Bugga On Bugga-Tadipatri Road on NH	ANANTHAPURAMU ANANTHAPURAMU	Regular	160 105	OBC CC 1 OPEN	DC DC	35 30	35 30	1225 900	32 32	95 75	Draw of Lots Draw of Lots	15 15	5
40	From Narpala to Bondalawada on Damajipalli-Tadipatri Road SH Within 2 Km on either side of Anantapur-Tadipatri Junction of Narpala on SH	ANANTHAPURAMU ANANTHAPURAMU	Regular Regular	105	OPEN	DC	30	30	900	32	75	Draw of Lots Draw of Lots	15	5
42	Tilak Nagar post office to Somaladoddi circle within Ananthapur Municipal limits (Not on NH/SH)	ANANTHAPURAMU	Regular	100	OPEN	CC	20	25	500	32	12	Bidding	30	5
43	Within 3KM from YV Siva Reddy College of Engineering towards Gooty on NH	ANANTHAPURAMU	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
				170	OPEN	DC	35	35	1225	32	95		15	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di	mension (ii Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	s indicated are based on market conditions and may undergo change. Applicants are advised to make the													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	ld have firm offer for the same.			lone					ı			ı	
				MS + HSD in KLs	SC CC 1 SC PH ST ST CC 1 ST PH	cc/bc/cfs	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
45	From Rayalacheruvu to Tadipatri on NH67	ANANTHAPURAMU	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
46 47	On LHS from Chedulla Village to Singanamala Circle, Ananthapur-Tadipatri Road,NH Tadipatri-Anantapur Road(on NH) within Tadipatri Municipal limits	ANANTHAPURAMU ANANTHAPURAMU	Regular Regular	170 170	OPEN OPEN	DC DC	35 30	35 30	1225 900	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
48	On RHS from Yerraguntapalli to A.Kondapuram Cross, On NH	ANANTHAPURAMU	Regular	170	OPEN	DC	35	35	1225	32	95 95	Draw of Lots Draw of Lots	15	5
49	From Putluru Road Junction To Ravindra Bharathi School, Within Tadipatri Municipal Limits	ANANTHAPURAMU	Regular	105	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
50	Within 5 Km from Bellary - Kalyandurg Y Junction at Nadimivanka towards Kalyandurg, Within Ananthapur Municipal limits	ANANTHAPURAMU	Regular	130	OPEN	СС	20	25	500	32	12	Bidding	30	5
51	Within 1 Km Radius From Guntakal Bus Stand, Within Guntakal Municipal Limits	ANANTHAPURAMU	Regular	125	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
52	Within 2 Km From Gandhi Chowk Towards Guntakal Railway Station,Guntakal Municipal Limits	ANANTHAPURAMU	Regular	125	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
53 54	From Chukkalur Village to Iguduru Village On NH-67	ANANTHAPURAMU ANANTHAPURAMU	Regular	160 170	OPEN OPEN	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
55	From Pampanur to Atmakur on NH Gooty Town on Gooty To Rayalacheruvu Road on NH	ANANTHAPURAMU	Regular Regular	170	OPEN	DC	35	35	1225	32	95 95	Draw of Lots Draw of Lots	15	5
56	Kalyandurg Municipal limits Not On NH/SH	ANANTHAPURAMU	Regular	120	OPEN	CC	25	25	625	32	12	Bidding	30	5
57	Within 2 Km From Kalyandurg Govt. Polytechnic on Kalyandurg To Ananthapur On NH	ANANTHAPURAMU	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
58	On RHS from Garladinne To Kalluru, on NH	ANANTHAPURAMU	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
59 60	Ganigera Village on Kanekal Cross To Bommanahal Road on SH	ANANTHAPURAMU ANANTHAPURAMU	Regular Regular	105 110	OPEN OPEN	DC DC	30 30	30 30	900 900	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
61	From Yadiki to Thirunampalli Village On SH Thirunampalli to Nittur Village On SH	ANANTHAPURAMU	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
62	Within 2 Km From Gundlapalli Cross on Kanekal Cross To N.Gundlapalli Cross on SH	ANANTHAPURAMU	Regular	125	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
63	On RHS Within 2 Km From Kasapuram Police Station on Kasapuram to Guntakal road on SH	ANANTHAPURAMU	Regular	110	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
64	Within 3 Km on either side of CSIS Church, Konakandla Village on SH	ANANTHAPURAMU ANANTHAPURAMU	Regular	110	OPEN CC 1	DC	30 30	30 30	900	32 32	75 75	Draw of Lots Draw of Lots	15	5
66	Within 3 km from Lakshmanpalle - Kalyandurg road Junction on SH Within 6 km from HSNN Canal bridge towards Uravakonda on SH	ANANTHAPURAMU	Regular Regular	110 110	OPEN CC 1	DC DC	30	30	900	32	75	Draw of Lots Draw of Lots	15 15	5
67	From Nayanapalli cross to Chamalur Village On SH	ANANTHAPURAMU	Regular	105	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
68	Within 2 Km From Vidyut Nagar Circle towards Collector Office on 80 Feet Road, Within Ananthapur Municipal Limits (Not On NH/SH)	ANANTHAPURAMU	Regular	100	sc	CFS	20	25	500	0	0	Draw of Lots	0	3
69	Within 2 Km From Vidyut Nagar Circle towards Prasannayapalli Railway Station , Within Ananthapur Municipal Limits (Not On Nh/Sh)	ANANTHAPURAMU	Regular	110	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
70	On LHS from Uravakonda To Vidapanakal on NH	ANANTHAPURAMU	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
71	On RHS from Pamidi to Midthuru on NH44	ANANTHAPURAMU	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
72	Tadipatri APSRTC Bus Stand to Bugga Road on NH, within Tadipatri Municipal Limits (on either side)	ANANTHAPURAMU	Regular	160	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
73 74	From Tadipatri APSRTC Bus Stand towards Hussenapuram within Tadipatri Municipal limits On Tadipatri -Yellanur Road within Tadipatri Municipal Limits	ANANTHAPURAMU ANANTHAPURAMU	Regular Regular	160 105	SC CC 1	CFS CFS	30 25	30 25	900 625	0	0	Draw of Lots Draw of Lots	0	3
75	Thapovanam Circle to Rapthadu Circle on NH (on either side)	ANANTHAPURAMU	Regular	170	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
76	Within 1.5 KM from GOVT. GENERAL HOSPITAL TOWARDS NH44 ON RUDRAMPET ROAD within Ananthapur Municipal Limits.	ANANTHAPURAMU	Regular	120	ST CC 1	CFS	20	25	500	0	0	Draw of Lots	0	3
77	From rayachoti to lakkireddypalle on NH (either side)	ANNAMAYYA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
78	From Vennela Garden Restaurant to Mathrusri Vengamamba Circle on NH	ANNAMAYYA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
79	From Chitlur To Bandlapalle On NH	ANNAMAYYA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
80 81	Pileru To Matampalle On either side of NH Chintaparthi To Vayalapadu on either side of Newly proposed NH 71.	ANNAMAYYA ANNAMAYYA	Regular Regular	160 160	OBC OBC	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	4
82	DODDIPALLE village On SH, Either Side, PILERU MANDAL	ANNAMAYYA	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
83	Kalakada to Gurramkonda on SH, either side (Within 5 KM from Gurramkonda)	ANNAMAYYA	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
84	Kalikiri To Mahal Road on SH (Within 3Km From Kalikiri, On Either Side)	ANNAMAYYA	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
85 86	Nimmanapalle Village on Nimmanapalli-Kanduru SH road	ANNAMAYYA ANNAMAYYA	Regular	100	OBC	DC DC	30 30	30 30	900	32 32	75 75	Draw of Lots	15 15	4
86	Gurramkonda To Tarigonda On Either Side of SH From Two Town Police Station to Padmavathi Kalyan Mandapam on CTM road, within Madanapalle	ANNAMAYYA	Regular Regular	100	OPEN	CC	25	25	625	32	12	Bidding	30	5
88	municipal Limits, not on NH/SH From Madanapalle circle on Rayachoti bypass ring road To Chinnamandem On NH	ANNAMAYYA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
89	From Kandlamadugu cross to Gollapalle village on NH	ANNAMAYYA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
90	Pileru To Kalikiri, On either side of Newly proposed NH-71	ANNAMAYYA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
91	Kalikiri To Chintaparthi On either side of Newly proposed NH-71	ANNAMAYYA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
92	From Rayachoti To Galiveedu On SH	ANNAMAYYA	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	L

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	imension (i e Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to make the													
* The site s	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	ld have firm offer for the same.		1	lone			1						
	From Sub-registrar office, rayachoti to Madanapalle circle within rayachoti municipal limits(not on			MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	cc/dc/cfs	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
93	NH/SH)	ANNAMAYYA	Regular	100	OPEN CC 1	DC	20	25	500	32	55	Draw of Lots	15	5
94	From Govt college playground, rayachoti to RTC depot circle on rayachoti bypass ringroad, within Rayachoti municipal limits, not on NH/SH.	ANNAMAYYA	Regular	100	OPEN CC 1	DC	20	25	500	32	55	Draw of Lots	15	5
95	From Motakatla to devapatla on NH	ANNAMAYYA	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
96	From NTR Circle Rajamapeta Bypass to Kicchamambapuram on SH	ANNAMAYYA	Regular	100	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
97 98	From Kodur to shettigunta on NH	ANNAMAYYA ANNAMAYYA	Regular	160 100	OPEN CC 1	DC DC	35 30	35 30	1225 900	32 32	95 75	Draw of Lots Draw of Lots	15 15	5
	From Chitvel To Kodur On SH, within 5 KMs from Chitvel-Kodur junction towards Kodur From NTR Circle to Sri Chowdeshwari Kalyan Mandapam on Kadiri Road, Within Madanapalle Municipal		Regular											
99	Limits.	ANNAMAYYA	Regular	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
	From Nimmanapalle Cross to Siddhi Motors (Hero Showroom), Within Madanapalle Municipal Limits.	ANNAMAYYA	Regular	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
	Between Aditya College Of Enngg And Maruti Suzuki Showroom(Madanapalle) On NH	ANNAMAYYA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
102 103	Mulakalacheruvu To Burakaylakota ON NH	ANNAMAYYA CHITTOOR	Regular	160 160	SC OBC	CFS DC	35	35	1225	0 32	0	Draw of Lots	0 15	3 4
	From Collector Office Chittoor To CMC Campus(Chittoor) On either side on NH Between Nandi Food Plaza And Mogili Cross On NH(LHS Towards Bangalore)	CHITTOOR	Regular Regular	160	OBC	DC	35 35	35 35	1225 1225	32	95 95	Draw of Lots Draw of Lots	15	4
105	Kallur To Pulicherla on SH(Within 4 Km From Kallur Junction, On Either Side)	CHITTOOR	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
106	Punganur to Madanapalli Road (Within 2 Kms From Punganur Bus Stand) on NH either side	CHITTOOR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
107	Puthalapattu To Paturu On NH , On LHS from Puthalapattu	CHITTOOR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
108	Puthalapattu To Paturu On NH , On RHS from Puthalapattu	CHITTOOR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
109	From Gandhi Circle to Reliance Digital , On Puttur road, within Chittoor Municipal Limits	CHITTOOR	Regular	100	OPEN	CC	25	25	625	32	12	Bidding	30	5
110	Between Aroma Restaurant And Kanipakkam road On NH40 on either side	CHITTOOR	Regular	160 160	OPEN CC 2	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
112	Between Mahasamudram Toll plaza and KG Sathram On LHS To Bangalore On NH. Chittoor town Between 1 Town Police Station And Reliance Hyper Market(Greamspet)	CHITTOOK	Regular Regular	100	OPEN CC 2	DC	25	25	625	32	55	Draw of Lots	15	5
113	From PNC municipal High School to Manga Samudram Circle on Chittoor Aragonda Road, Within Chittoor Municipal Limits	CHITTOOR	Regular	100	OPEN CC 2	DC	25	25	625	32	55	Draw of Lots	15	5
114	Between PES Public School And Amara Raja batteries, Chittoor on either side on NH	CHITTOOR	Regular	160	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
115	Between Siva Honda(Chittoor) And Sri Bala Thripura Sundari Kalyana Manndapam On Chittoor	CHITTOOR		100	OPEN PH	СС	25	25	625	32	12	Bidding	30	5
	Gudiyatham Road Within Chittoor Municipal limits.		Regular									-		
116 117	From Penumur Cross Road To RVS Hospital On either side on NH	CHITTOOR	Regular	160 160	OPEN PH	DC CFS	35	35	1225	32	95 0	Draw of Lots	15	5
117	From Emmaus Swiss Referral Hospital to Dodla dairy plant, Moram Village on NH. Between Peddapanjani Police Station and Kondasamudram on NH	CHITTOOR	Regular Regular	160	SC SC	CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
119	From RVS Hospital to New NH Flyover(At Puthalpatu) On LHS towards Tirupati on NH	CHITTOOK	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
120	Between PES Medical Hospital and Shantipuram On NH	CHITTOOR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
121	Bharath Hospital to Nernipalli School, V Kota on NH.	CHITTOOR	Regular	100	OPEN PH	DC	25	25	625	32	55	Draw of Lots	15	5
122	Between Palamaner Police Station and Hotel Charan , Within Palamaner Municipal Limits. Within 500 Mts. From Market Yard Junction, Yemmiganur ; Towards Yemmiganur Town on Tank Band	CHITTOOR KURNOOL	Regular	100	OPEN PH	DC	25	25	625	32	55	Draw of Lots	15	5
123	Road	KURNOOL	Regular	100	OBC	DC DC	25 30	25	625 900	32 32	55	Draw of Lots	15	4
	Rampalli village on Peapully-Pattikonda Road, On SH VENKATARAMANA COLONY,NH44 CROSS TO EPF OFFICE, ASHOK NAGAR STRETCH ON MAIN ROAD		Regular	100	OBC			30		-	75	Draw of Lots		
125	(WITHIN KURNOOL MUNICIPAL LIMITS) 1.5KM FROM NANDYAL CHECKPOST, KURNOOL TOWARDS ATMAKUR ROAD(KURNOOL MUNICIPAL	KURNOOL	Regular	150	OBC	cc	25	25	625	32	12	Bidding	30	4
126	FROM NANDYAL CHECKPOST TO G. PULLAREDDY ENGINEERING COLLEGE ON EITHER SIDE (WITHIN	KURNOOL	Regular	150	OBC	СС	25	25	625	32	12	Bidding	30	4
127	KURNOOL MUNICIPAL LIMITS)	KURNOOL	Regular	155	OBC CC 1	СС	25	25	625	32	12	Bidding	30	4
128	FROM KURNOOL COLLECTORATE TO SRI SRI SRI KANAKA DURGAMMA DEVALAYAM ON BUDHWARPET ROAD (WITHIN KURNOOL MUNICIPAL LIMITS)	KURNOOL	Regular	160	OPEN	СС	25	25	625	32	12	Bidding	30	5
129	FROM MUNICIPAL OFFICE TOWARDS SUNKESULA ON SUNKESULA ROAD WITHIN KURNOOL MUNICIPAL LIMITS	KURNOOL	Regular	155	OPEN	СС	25	25	625	32	12	Bidding	30	5
130	Within 1.5 Km from KIMS Hospital towards Vinayaka Ghat on Joharapuram Road	KURNOOL	Regular	150	OPEN	CC	25	25	625	32	12	Bidding	30	5
131	Ulchala - Kurnool Road (Kurnool Municipal limits), Neither on NH/SH	KURNOOL	Regular	150	OPEN	CC	25	25	625	32	12	Bidding	30	5
132 133	Kallur village on NH44 (Kurnool Municipal Limits) Kuruva Nagalapuram Village On SH	KURNOOL KURNOOL	Regular Regular	155 100	OPEN OPEN	CC DC	30 30	30 30	900	32 32	12 75	Bidding Draw of Lots	30 15	5
	From Chennamma Circle, Kurnool to Triguna Clarks Inn hotel on Kallur road , Kurnool Municipal limits	KURNOOL	Regular	150	OPEN	CC	25	25	625	32	12	Bidding	30	5

Page	Security Deposit (Rs in Lakhs)
19	12
March 160 100	
Page	
138 Section Permittenent with full for formation of the result (1967) (Control on pick result) (MINO) Registr 100 OPEN CC 23 25 25 25 25 25 25 25	
137 The Michael Songer of New Personne Course Miss 2 person on new Interdishing the Miss and Course Cou	5
1.00 1.00	5
1392	5
Main TAM of field cords of Application Serviced - Selective reactions Main TAM of field cords of Application TAM of Field cords TAM of Field cords TAM of Field cords TAM of Field TAM of Field cords TAM of Field	5
141 1911 1911 1911 1911 1912 1912 1912 1913 1914 1	5
Main Learn from Graphing Strategy Profession for Assert Strategy Company Com	5
144 ASPTICE And Ander I partition floor of set Asptice Asptice Ander I partition floor Asptice	5
145 Republishing Vision From Food State 100 10	5
Mathematics wings on Analysings windsom from deputy wings or Company win	5
147 A ON THE FORD Deputs Willing To Climar Seturu writing On RMME NAMED NAME	5
148 MANISTRAL (BIRTS 100	5
MANISCRAE, LIMITS 100 0.	
150 HOM SOMMALASATIAN FLOVER BROGET ON DONNPALLE FLOVER FLOVER BROGET ON DONNPALLE FLOVER FLOVER BROGET ON DONNPALLE FLOVER	4
150 150	4
1512 VAGASTIALE VILLAGET OS APPRADUVILLAGE ON ST.	4
152 YAGANTIPALIK PULKAGE TO PATA PADU VILLAGE TO NA PROPER STRUKU YELLAMINA TEMPE EN NATUYAL Regular 100 OPEN DC 30 30 900 32 75 Draw of loss 15 15 15 15 15 15 15	4
STHAMACHERLA BANAGONAPALLE ROLD TOWARDS BETHAMCHERLA MINUTAL Regular 100 OPEN CC 30 30 900 32 12 Bidding 30	5
154 PRILISPANILA PULLAGE ON NANDYAL PROBAD NANDYAL Regular 105 OBC CC 30 30 900 32 12 Bilding 30	5
156 WITHINS SAMS FROM DEERAGUNTA LINDOR COLLEGE TOWARDS NANDYAL ON NAME NANDYAL Regular 100 OPEN DC 30 30 900 32 75 Draw of Lots 15	4
197 TALAMUDIPI VILLAGE ON NANDYAL CADD VENUTS ON TASAGA MARKE MANADEVAL MONOYAL ROAD NANDYAL Regular 100 OPEN DC 30 30 900 32 75 Draw of Lots 15	5
158 CHAGALAMARRI VILLAGE LIMITS ON CHAGALAMARRI-NAMAPUNAL ROAD NANDYAL Regular 100 OPEN DC 30 30 900 32 75 Draw of Lots 15	5
159 ONETHER SIDE OF PADMAVATHI NAGAR ROAD, NANDYAL Regular 110 OPEN DC 25 25 625 32 55 Draw of Lots 15 Draw of	5
REOM CHINNAKAMBALURI VILLAGE TO MANADEVAPURAM VILLAGE ON CHAGALAMARRI- NANDYAL Regular 120 OPEN DC 30 30 900 32 75 Draw of Lots 15	5
161 RROM ATMAKUR BUS STAND TOWARDS SRISALIAM WITHIN ATMAKUR MUNICIPAL LIMITS ON NH-3400 NANDYAL Regular 160 OPEN DC 30 30 900 32 95 Draw of Lots 15	5
163 ATHA KANDUKUR VILLAGE LIMITS ON RITISTS ON MISSAD NANDYAL Regular 100 OPEN DC 30 30 900 32 75 Draw of Lots 15	5
163 ATHA KANDUKUR VILLAGE LIMITS ON RITISTS ON MISSAD NANDYAL Regular 100 OPEN DC 30 30 900 32 75 Draw of Lots 15	5
164 GAULLAPALLI VILLAGE LIMITS ON NISA4D NANDYAL Regular 160 OPEN DC 35 35 1225 32 95 Draw of Lots 15	5
166	5
167 From Government IT College, Dhone to APSRTC Bus stand, Dhone NANDYAL Regular 105 OPEN DC 25 25 625 32 55 Draw of Lots 15	5
168 ONLHS FROM PANYAM TO THAMMARAUPALLE ON NH40	5
159 CHINTAKURTA VILLAGE LUMITS ON EITHER SIDE OF ALLAGADDA-KOILAKUNTLA ROAD NANDYAL Regular 105 ST PH CFS 30 30 900 0 0 Draw of Lots 0	5
170 On LHS from Peapully To Dhone on NH-44 NANDYAL Regular 160 SC CFS 35 35 1225 0 0 Draw of Lots 0	3
172 Within Dharmavaram Municipal Limits (Not on NH/SH) SRI SATHYA SAI Regular 100 OPEN CC 25 25 625 32 12 Bidding 30 173 Yenumula Palli Within Puttaparthi Municipal limits (Not on NH/SH) SRI SATHYA SAI Regular 100 OPEN CC 25 50 32 12 Bidding 30 174 Within 2km on either side of Ramaparma mic rise between Bathalapalli And Mudigubba On NH42 SRI SATHYA SAI Regular 160 OPEN CC 25 50 32 12 Bidding 30 175 Within 2km on either side of Verayaparma incircle between Bathalapalli And Mudigubba On NH42 SRI SATHYA SAI Regular 100 OPEN CC 25 50 32 12 Bidding 30 175 Within 2km on either side of Verayaparal IBUs stop between Bathalapalli And Mudigubba On NH42 SRI SATHYA SAI Regular 100 SC CFS 20 25 500 0 D raw of Lots 0 176 Within 2kM on either side of Apparacheruvu Hanuman temple circle between	3
173 Venumula Palli Within Puttaparthi Municipal limits (Not on NH/SH) SRI SATHYA SAI Regular 100 OPEN CC 20 25 500 32 12 Bidding 30	4
174 Within 2km on either side of Ramapuram circle between Bathalapalli And Mudigubba On NH42 SRI SATHYA SAI Regular 160 OPEN DC 35 35 35 1225 32 95 Draw of Lots 15 175 Within Penukonda Municipal Limits (Not on NH/SH) SRI SATHYA SAI Regular 100 SC CFS 20 25 500 0 0 0 Draw of Lots 0 176 Within 18 Within (Not on NH/SH) SRI SATHYA SAI Regular 120 SC PH CFS 20 25 500 0 0 0 Draw of Lots 0 177 Within 2km on either side of Yerrayapalli Bus stop between Bathalapalli and Ananthapur On NH SRI SATHYA SAI Regular 160 ST CFS 35 35 1225 0 0 Draw of Lots 0 178 Within 3km on either side of Yerrayapalli Bus stop between Bathalapalli And Mudigubba On NH42 188 Within 3km on either side of Apparacheruvu Hanuman temple circle between Bathalapalli And Mudigubba On NH42 199 From Dharmavaram to Kothacheruvu On SH SRI SATHYA SAI Regular 125 ST CFS 30 30 900 0 0 Draw of Lots 0 197 From Dharmavaram to Kothacheruvu On SH SRI SATHYA SAI Regular 125 ST CFS 30 30 900 0 0 Draw of Lots 0 198 From Dharmavaram to Kothacheruvu On SH SRI SATHYA SAI Regular 125 ST CFS 30 30 900 0 0 Draw of Lots 0 198 From Dharmavaram to Kothacheruvu On SH SRI SATHYA SAI Regular 125 ST CFS 30 30 900 0 0 Draw of Lots 0 198 From Dharmavaram to Kothacheruvu On SH SRI SATHYA SAI Regular 125 ST CFS 30 30 900 0 0 Draw of Lots 0 198 From Dharmavaram to Kothacheruvu On SH SRI SATHYA SAI Regular 125 ST CFS 30 30 900 0 Draw of Lots 0 199 From Dharmavaram to Kothacheruvu On SH SRI SATHYA SAI Regular 125 ST CFS 30 30 900 0 Draw of Lots 0 199 From Dharmavaram to Kothacheruvu On SH SRI SATHYA SAI Regular 125 ST CFS 30 30 900 0 Draw of Lots 0 190 Draw of Lots 15 ST CFS 30 30 900 0 Draw of Lots 0 190 Draw of Lots 15 ST CFS 30 30 900 Draw of Lots 15 ST CFS 15 ST CFS 30 900 Draw of Lots 15 ST CFS 15 ST CFS 30 900 Draw of Lots 15 ST CFS 15	5
175 Within Penukonda Municipal Limits (Not on NH/SH) SRI SATHYA SAI Regular 100 SC CFS 20 25 500 0 0 Draw of Lots 0 176 Within in Kadiri Municipal Limits (Not on NH/SH) SRI SATHYA SAI Regular 120 SC PH CFS 20 25 500 0 0 Draw of Lots 0 177 Within 2KM on either side of Apparacheruvu Hanuman temple circle between Bathalapalli And Municipabla Miniman and Municipabla	5
176 Within is Xadiri Municipal Limits (Not on NH/SH) SRI SATHYA SAI Regular 120 SC PH CFS 20 25 500 0 0 Draw of Lots 0 177 Within Is XM on either side of Verrayapalli Bus stop between Bathalapalli and Ananthapur On NH SRI SATHYA SAI Regular 160 ST CFS 35 35 1225 0 0 Draw of Lots 0 Within Is XM on either side of Apparacherusu Hanuman temple circle between Bathalapalli And Muligubba On NH42 Regular 160 ST CFS 35 35 1225 0 0 Draw of Lots 0 Mudigubba On NH42 No Modigubba On NH42 SRI SATHYA SAI Regular 125 ST CFS 35 35 1225 0 0 Draw of Lots 0 179 From Dharmavaram to Kothacheruvu On SH SRI SATHYA SAI Regular 125 ST CFS 30 30 900 0 0 Draw of Lots 0	3
177 Within 2KM on either side of Yerrayapalli Bus stop between Bathalapalli and Ananthapur On NH SRI SATHYA SAI Regular 160 ST CFS 35 35 1225 0 0 Draw of Lots 0 178 Within 3KM on either side of Apparacheruvu Hanuman temple circle between Bathalapalli And Mudigubba On NH42 SRI SATHYA SAI Regular 160 ST CFS 35 35 1225 0 0 Draw of Lots 0 179 From Dharmavaram to Kothacheruvu On SH SRI SATHYA SAI Regular 125 ST CFS 30 30 900 0 0 Draw of Lots 0	3
176 Mudiglubba On NH42 SRI SATHYA SAI Regular 100 SI CFS 33 35 1225 U U Draw of Lots U 179 From Dharmavaram to Kothacheruvu On SH SRI SATHYA SAI Regular 125 ST CFS 30 30 900 0 0 Draw of Lots 0	3
	3
180 Within 2 Kms from Bathalapalli Junction Towards Ananthapur Town On NH SRI SATHYA SAI Regular 170 ST CFS 35 35 1225 0 0 Draw of Lots 0	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di	mension (ii Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	s indicated are based on market conditions and may undergo change. Applicants are advised to make th													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shoul	d have firm offer for the same.			lone					ı			ı	
				M5 + HSD in KLs	SC CC 1 SC PH ST ST CC 1 ST PH	cc/bc/cfs	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
181	From Haripuram to Ammavarupalli on NH	SRI SATHYA SAI	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
182 183	From Mamillapalli Cross to NS Gate Circle on NH-44 (on either side) Igbal circle, Kadiri to Nallacheruvu police station, On NH	SRI SATHYA SAI SRI SATHYA SAI	Regular Regular	170 160	ST CC 1	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
	Puttaparthi APSRTC bus stand to Sri Sathya Sai Institute of Higher Medical Science Within Puttaparthi													
184	Municipal Limts (Not on NH/SH)	SRI SATHYA SAI	Regular	105	ST PH	CFS	20	25	500	0	0	Draw of Lots	0	3
185	Air bypass road in Tirupati town	TIRUPATI	Regular	120	OBC	CC	20	25	500	32	12	Bidding	30	4
186	MR Palli Police Station to Vaikuntapuram Road	TIRUPATI	Regular	120	OBC	CC	20	25	500	32 32	12	Bidding	30 30	4
187 188	Ramee Guest line Hotel to DBR Hospital road in Tirupati town From Merlapaka to Kapugunneri on NH-71	TIRUPATI TIRUPATI	Regular Regular	120 160	OPEN OBC	CC DC	20 35	25 35	500 1225	32	12 95	Bidding Draw of Lots	15	5
189	From Gudur to Kota bypass junction on NH-16	TIRUPATI	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
190	Bairagipatteda on Sri Babu Jagjivanram Park road	TIRUPATI	Regular	110	OBC	CC	20	25	500	32	12	Bidding	30	4
191	From Menakuru to Utlapalle, on SH	TIRUPATI	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
192	From Karakambadi to Mamanduru on NH	TIRUPATI	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
193 194	Kokkupadu to Siddavaram on SH via allampadu	TIRUPATI TIRUPATI	Regular Regular	100 120	OBC	DC CC	30 20	30 25	900 500	32 32	75 12	Draw of Lots Bidding	15 30	4
195	Within Srikalahasthi Muncipality Limits (Not On SH/NH) Within Sullurpeta Municipal limits (Not on SH/NH)	TIRUPATI	Regular	110	OBC	DC	20	25	500	32	55	Draw of Lots	15	4
196	Within Venkatagiri Municipal limits (Not on SH/NH)	TIRUPATI	Regular	110	OBC	DC	20	25	500	32	55	Draw of Lots	15	4
197	Within Gudur Municipal limits (Not on SH/NH)	TIRUPATI	Regular	110	OBC	DC	20	25	500	32	55	Draw of Lots	15	4
198	Pellakuru-Pennepalli on NH-71	TIRUPATI	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
199 200	CHERLOPALLI-Alipiri road on either side	TIRUPATI TIRUPATI	Regular Regular	100 160	OBC OBC	CC DC	25 35	25 35	625 1225	32	12 95	Bidding Draw of Lots	30 15	4
201	Gajulamandyam-Thanapalli Cross on either side of Tirupati Bypass NH Bhakarapeta To Yerravaripalem On SH, Either Side	TIRUPATI	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
202	Bhakarapeta To Chinnagottigallu Village on either side of Newly proposed NH-71	TIRUPATI	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
203	Tirupati Town Club To Alipiri	TIRUPATI	Regular	100	OBC	CC	25	25	625	32	12	Bidding	30	4
204	VADAMALPET- TADUKU (On LHS from Vadamalpet on NH)	TIRUPATI	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
205 206	Sanjeevarayapuram Village on SH, either side From Cherlapalle to Urandur on newly proposed NH-71	TIRUPATI TIRUPATI	Regular Regular	100 160	OPEN OPEN	DC DC	30 35	30 35	900 1225	32 32	75 95	Draw of Lots Draw of Lots	15 15	5
207	Varadaiahpalem to Tada on SH	TIRUPATI	Regular	110	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
208	Pallam to Vampalli on NH	TIRUPATI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
209	From Ramanuja Circle Towards Renigunta on NH, Within Tirupati Municipal Limits.	TIRUPATI	Regular	160	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
210	From R.Mallavaram to Yerpedu on new NH 71	TIRUPATI	Regular	160 100	OPEN	DC	35	35	1225	32 32	95	Draw of Lots	15 15	5
211 212	Mahakalideviputtur (on SH Connecting Vikruthamala-Srikalahasthi) From Annamayya Circle to Avilala Junction (on Rayala cheruvu Road)	TIRUPATI TIRUPATI	Regular Regular	120	OPEN OPEN	DC DC	30 30	30 30	900 900	32	75 75	Draw of Lots Draw of Lots	15	5
213	From Akkarampalle to Karakambadi on SH	TIRUPATI	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
214	On new road between MR Palli Circle and SV Mahila University	TIRUPATI	Regular	120	OPEN	DC	25	20	500	32	55	Draw of Lots	15	5
215	Korlangunta Main Road, Tirupati Town	TIRUPATI	Regular	120	OPEN	CC	20	25	500	32	12	Bidding	30	5
216 217	Pedda kannali-Nelaballi on newly proposed NH-71	TIRUPATI TIRUPATI	Regular	160 100	OPEN OPEN	DC DC	35 30	35 30	1225 900	32 32	95 75	Draw of Lots	15 15	5
217	Puttur Railway Station to RDM GATE PUTTUR on SH(either side) Kothakandriga to Laxmi Puram on SH either side	TIRUPATI	Regular Regular	100	OPEN	DC	30	30	900	32	75 75	Draw of Lots Draw of Lots	15	5
219	Thondavada-Avilala on either side of Tirupati Bypass on NH	TIRUPATI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
220	Ithepalli To Gadanki On either side of NH	TIRUPATI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
221	NARAYANAVANAM-PALAMANGALAM on NH-716A (either side)	TIRUPATI	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
222	From Gandi Veera Anjaneya swamy temple to Surabhi Village on NH Masapet Circle to Machupalli Road upto NH716 junction, Within Kadapa Municipal Limits(Not on NH/SH)	Y.S.R Y.S.R	Regular Regular	160 100	OPEN CC 1	CC CC	35 20	35 25	1225 500	32 32	95 12	Draw of Lots Bidding	15 30	5
224	From Kopparthi To Pendlimarri On Kadapa Pulivendula Road, SH	Y.S.R	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
225	From Jamalpalle to Chinnakaampalle on NH	Y.S.R	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
226	Mantapampalle village on NH	Y.S.R	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
227	Kadapa Chinna Chowk Bypass Road, Within Kadapa Municipal Limits	Y.S.R	Regular	100	OBC	CC	25	25	625	32	12	Bidding	30	4
228		Y.S.R Y.S.R	Regular Regular	100 100	OBC OBC	CC	25 25	25 25	625 625	32 32	12 12	Bidding Bidding	30 30	4
230		Y.S.R	Regular	100	OBC	CC	25	25	625	32	12	Bidding	30	4
231		Y.S.R	Regular	100	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	imension (ii e Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to make the													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	ld have firm offer for the same.			lone									
			Regular / Rural	M5 + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	cc/Dc/cFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
232	Mydukur-Porumamilla road on NH within 2km Stretch from Mydukur-Badvel road junction(Within Mydukur Municipal Limits)	Y.S.R	Regular	160	OBC	DC	30	30	900	32	95	Draw of Lots	15	4
233	3Km Strech From Porumamilla Cross, LHS Towards Mydukur To Badvel Road	Y.S.R	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
234	Basapuram toll plaza to Dodla Dairy Ltd Plant on NH67	Y.S.R	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
235	On Proddutur Bypass Road, From Proddatur-Annavaram cross To Dr. YSR statue circle.	Y.S.R	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
236	Within 3KM from Ring Road Junction near kothapalle panchayat towards mydukur RHS on NH	Y.S.R	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
237	On veparala to Jammalamadugu road within Jammalamadugu municipal Limits(Not on NH/SH)	Y.S.R	Regular	110	OBC	DC	25	25	625	32	55	Draw of Lots	15	4
238 239	Salevari Uppalapadu to Gundlakunta Road on NH	Y.S.R Y.S.R	Regular Regular	160 160	OBC OBC	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	4
240	Within 3KM from raju palem circle towards Chagalamarri on Gopavaram road NH Jammalamadugu To Tadipatri Road from Chinnakomarla To Talamanchipatnam on SH	Y.S.R	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	Second Gandhi statue circle on almasphet road To built up circle, Kadapa, Within Kadapa Municipal													
241	limits(Not on NH/SH) Kamalapuram To Khajipet road ; 3 KM stretch from railway crossing towards Khajipet, within	Y.S.R	Regular	100	OPEN	СС	25	25	625	32	12	Bidding	30	5
242	Kamalapuran municipal limits Jammalamadugu To Muddanur road In Jammalamadugu Municipal Limit	Y.S.R Y.S.R	Regular Regular	100	OPEN OPEN	DC DC	30 30	30 30	900	32 32	75 95	Draw of Lots	15 15	5
244	Proddatur Municipal Limits (Not on NH/SH)	Y.S.R	Regular	100	OPEN	DC	25	25	625	32	55	Draw of Lots	15	5
245	Muddanur To Kondapuram Road(LHS) Upto Mangapatnam	Y.S.R	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
246	From Onipenta to Adhireddy palli, LHS on Mydukur To Porumamilla Road	Y.S.R	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
247	On SH (Mydukur - Taticherla Road), between KM stones 54 and 57, On RHS towards Taticherla	Y.S.R	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
248	Muddanur to Chinna Dudyala Junction on Muddanur To Pulivendula Road,NH	Y.S.R	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
249 250	Proddatur to Jammalamadugu RHS On NH67, KM Stone 556 To 568	Y.S.R Y.S.R	Regular	160 100	SC SC	CFS CFS	35 30	35 30	1225 900	0	0	Draw of Lots Draw of Lots	0	3
251	Obulapuram to Markapuram on SH From Kamakunta to Madhavarayunipalle on SH	Y.S.R	Regular Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
252	From Lavanuru to S Thimmapuram on SH	Y.S.R	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	ő	3
253	From pulivendula poola angallu to Parnapalli circle on Pulivendula ring road within Pulivendula	Y.S.R	Regular	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
254	municipal limits not on NH/SH From Srinivasa theatre to Bakarapuram Sachivalayam within Pulivendula Municipal limits, not on NH/SH	Y.S.R	Regular	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
255	From Sree VeeraBramhendra swamy temple near Garudayya Gaari Satram to a stretch of 5kms on NH	Y.S.R	Regular	160	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
256	towards Singanapalle within Gopavaram mandal. Within 3Km From Mallepalle Towards Porumamilla On LHS (Mydukur - Porumamilla) NH	Y.S.R	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
257	On RHS,From Mile stone 201 to 203 (chirala -Ongole) on NH 216	BAPATLA	Regular	160	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
258	On LHS, From Elchuru Bustand to Krishna sai Theatre(Kommalapadu) on SH 36	BAPATLA	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
259	From ZPH school Chandalauru to District council primary school koniki village on state highway	BAPATLA	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
260	On New NH-216 bypass from penumudi bridge 4 km towards kanangala ,	BAPATLA	Regular	165	OBC	CC	35	35	1225	32	12	Bidding	30	4
261 262	Within 2KM from Bapatla ASPRTC newbus stand toward karlapalem on NH-216	BAPATLA BAPATLA	Regular	165 175	OBC OBC	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	4
262	Within 3KM from Bapatla ASPRTC newbus stand towards- Chirala on NH-216 Within 3 Km from Appikatla Railway Station Junction Towards Baptla Road(SH)	BAPATLA	Regular Regular	120	OBC PH	CC	30	30	900	32	12	Bidding	30	4
264	within 2 km from nagaram cross road at Sajjavaripalem on SH (Nizampatnam to repalle road)	BAPATLA	Regular	115	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
265	Within 2 km from Hosanna mandir on bapatla -pedanandipadu SH after bapatla overbridge towards Jammulapalem .	BAPATLA	Regular	110	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
266	On LHS, From Mile stone 1194 to 1199 on NH16(Vijayawada to Chennai)	BAPATLA	Regular	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
267	Baptla to Guntur road after Bapatla over bridge from BGRM ministries within 3km towards Guntur on SH	BAPATLA	Regular	155	OPEN	СС	30	30	900	32	12	Bidding	30	5
268	Within 2 km from HKKS & MGS college of engineering on Cherukupalli to Repalle road (NH-216)	BAPATLA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
269	Bapatla Suryalanka (SH) road within Bapatla municipality limit	BAPATLA	Regular	130	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
270	On RHS,From Mile stone 1194 to 1199 on NH16(Vijayawada to Chennai)	BAPATLA	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
271 272	On RHS,From Mile stone 1201 to 1209(Vijayawada- Chennai) on NH-16 With in 2KM from Marturu Nagarajupalli center towards Ballikurava village on SH-71	BAPATLA BAPATLA	Regular Regular	150 100	OPEN OPEN	DC DC	35 30	35 30	1225 900	32 32	12 75	Bidding Draw of Lots	30 15	5
273	From Mile stone 1216 to 1224(Vijayawada to Chennai) on NH-16 (RHS)	BAPATLA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
274	From Mile stone 1216 to 1224(Vijayawada- chennai) on NH-16 (LHS)	BAPATLA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
275	From Hai restaurant Junction to St.Ann's college of engineering and technology, Chirala on NH 216	BAPATLA	Regular	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
276	Between Srinidhi cold storage (Parchuru) to Sri Saibaba temple(Jagarlamudi) on state highway	BAPATLA	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di	mension (ir Site (in Sq.		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	s indicated are based on market conditions and may undergo change. Applicants are advised to make the													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	d have firm offer for the same.	ı		OBC					1			1	
				M5 + HSD in KLs	OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
277	Between lord hanuman statue(Nuthalapadu) to Universal high school (Pusapadu) on state highway	BAPATLA	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
278	Either side from Crystal Honda showroom to BSNL Telephone exchange office on SH-366 Chirala-Ongole road, Chirala Mandal	BAPATLA	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
279	With in 3KM from Gonasapudi bridge, Chinaganjam Manadal towards inkollu village on SH -368	BAPATLA	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
280	Within 2 km from Repalle post office towards penamudi on SH	BAPATLA	Regular	110	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
281	Within 3Km from Rambotlapalem junction at Rambotlavaripalem	BAPATLA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
282	on bapatla repalle road (NH-216)	BAPATLA		155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
282	From Nellamothuvaripalem junction within 2km on Bapatla- Karalpalem road(NH-216) From Aadilakshmi Cold storage(Parchuru) to adusumalli power station on SH-249(Not on NH)	BAPATLA	Regular Regular	100	SC	CFS	35	30	900	0	0	Draw of Lots Draw of Lots	0	3
284	Within 2 km from Govt. Hospital in Devapudi Village in Mudinpally Mandal on SH towards Singarayapalem- Bantumilli Road	ELURU	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
285	WITH IN 3 KMS FROM SRI SARADHI INSTITUE OF ENGINEERING AND TECHNOLOGY, NUZVID TOWARDS MYLAVARAM ON NUZVID TO MYLAVARAM ROAD (ON SH)	ELURU	Regular	100	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
286	WITHIN 2 KMS FROM UNION BANK(EARLIER ANDHRA BANK),RAMANAKKAPETA IN RAMANAKKAPETA VILLAGE, MUSUNURU MANDAL ON SH	ELURU	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
287	within 2 km from Excise station mandavalli on NH 165 towards Perikigudem , LHS	ELURU	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
288	within 7 km from MPP school Gonepadu towards Alaapadu on NH 165 LHS	ELURU	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
289	From Kaikaluru Bus Stand to Kaikaluru RaithuBazar on NH 165 LHS	ELURU	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
290 291	ZPHS Vadali to Mudinepally Panchayat Office on SH, LHS ON SH -WITH IN 2KM FROM PEDAPADU JUNCTION	ELURU ELURU	Regular Regular	100 140	SC CC 1 OPEN	CFS DC	30 30	30 30	900 900	32	0 75	Draw of Lots Draw of Lots	0 15	5
292	From Mile stone no 30 at Gunnampalli to Laxminagaram Bust shelter at Lakshminagaram on NH 16	ELURU	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
293	Gopannapalem Junction to Munduru Bus Stand on SH (on Eluru - Jangareddygudem Road)	ELURU	Regular	140	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
294	on SH, within 2km from Chaitanya EM High School, Lingapalem	Eluru	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
295 296	BUTTAYAGUDEM JUNCTION TO BAYYANAGUDEM- LHS ON NH 516D MINI BYASS ROAD (BETWEEN JUTE MIL FLYOVER TO VATLUR RAILWAY BRIDGE) IN ELURU TOWN	ELURU ELURU	Regular Regular	220 140	ST OPEN	CFS CC	35 20	35 20	1225 500	0 32	0 12	Draw of Lots Bidding	30	5
297	WITHIN 1KM FROM DEVULAPALLI JUNCTION (ON SH - ELURU - JANGAREDDY GUDEM ROAD)	ELURU	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
298	ON SH- ON GUNDUGOLANU - KOVALI ROAD(WITHIN 2 KM FROM NH 216 A)	ELURU	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
299	GURVAIGUDEM TO JANGAREDDY GUDEM ON SH ON LHS TOWARDS JANGAREDDY GUDEM ROAD (ON ELURU- JANGAREDDY GUDEM ROAD)	ELURU	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
300	on LHS within 2 kms from Nuziveed Seeds Ltd (on Eluru - Chintalapudi Road)	ELURU	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
301	YERRAGUNTAPALLI TO MAKKINAVARIGUDEM ON SH (NOT ON CHINTHALAPUDI - YERRAGUNTALAPALLI ROAD)	ELURU	Regular	140	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
302	BORAMPALEM TO VALLAMPATLA ON SH	ELURU	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
303	POTHUNURU ON SH (ON BOTH SIDES)	ELURU	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
304 305	ON SH -WITH IN 2 KM FROM RAMARAO GUDEM BRIDGE (ON DENDULURU- PANGIDIGUDEM ROAD) ON SH- DEDULURU -PANGIDIGUDEM ROAD (WITHIN 3KM FROM NH-16)	ELURU ELURU	Regular Regular	140 140	OPEN OPEN	DC DC	30 30	30 30	900 900	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
306	ON SH., TOWARDS ELURU (WITHIN 2KM FROM KAVERI SEEDS COMPANY LTD, KOPPAKA)	ELURU	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
307	TOWARDS CHINTALAPUDI-ON SH-ELURU CHINTALAPUDI ROAD WITH IN 4 KM FROM KANDRIKAGUDEM JUNCTION-ELURU,	ELURU	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
308	WITHIN 4 KM FROM TANGELMUDI BRIDGE ON SH-ELURU- JANGAREDDYGUDEM ROAD TOWARDS JANGAREDDYGUDEM(ON BOTH SIDES)	ELURU	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
309	DEVULAPALLI TO LAKKAVARAM ON SH (NOT ON ELURU - JANGAREDDYGUDEM)	ELURU	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
310	TADEKALAPUDI TO ADAMILLI(ON SH, ON ELURU- JANAGAREDDYGUDEM ROAD)	ELURU	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
311 312	TADUVALTO JEELUGUMILLI ON NH 516D	ELURU	Regular	220 140	OPEN ST	DC CFS	35 30	35 30	1225 900	32 0	95 0	Draw of Lots Draw of Lots	15 0	5
312	ON SH -KANNAPURAM - KOYYALAGUDEM ROAD(WITHIN 3KM FROM NH 365 BB) ASHRAM HOSPITAL JN TO GUNDUGOLANU JN ON LHS ON NH 16	Eluru ELURU	Regular Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots Draw of Lots	15	5
314	WITH IN 3KM FROM MADEPALLI BUS STOP. TOWARDS KAIKALURU ON SH (ON ELURU KAIKALUR ROAD)		Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
315	RR PET IN ELURU TOWN	ELURU	Regular	140	OPEN	CC	20	20	500	32	12	Bidding	30	5
316	KAIKARAM TO UNGUTUR TOLL PLAZA ON LHS -NH 216A	ELURU	Regular	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
		ELURU	I Rogular	140	SC	CFS	20	20	500	0	l 0 I	Draw of Lots	0	3
317 318	ELURU- (ON ELURU OLD BUS STAND TO ELURU RAILWAY STATION MAIN GATE) GUNDUGOLANU JN TO PULLA ON NH 216A ON LHS	ELURU	Regular Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	imension (ii e Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to make the should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou													
THE SILE	module ettier be Owned or on lease with applicant for minimum 13 years 11 months or Applicant shou	a nave initi oner for the same.			ОВС									
			Regular / Rural	MS + HSD in KLs	OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
320	WITH IN MANGALAGIRI TADEPALLI MUNICIPAL CORPORATION LIMITS (BETWEEN PRIMARY HEALTH CARE CENTER, SEETHANAGARM TILL NH-16 VIA ROUTE CONNECTING CM CAMP OFFICE - NOT ON NH/SH)	GUNTUR	Regular	163	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
321	WITH IN MANGALAGIRI TADEPALLI MUNICIPAL CORPORATION LIMITS (ON UNDAVALLI - PENUMAKA ROAD, BETWEEN RAMAKRISHNA CINEMAS AND SAI BABA TEMPLE - NOT ON SH/NH)	GUNTUR	Regular	150	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
322	WITH IN TENALI MUNICIPAL LIMITS (BETWEEN SATYANARAYANA TMC LAKE PARK AND SRI KANYAKA PARAMESWARI TEMPLE ON BOSE ROAD - NOT ON SH/NH)	GUNTUR	Regular	150	OBC	СС	20	20	500	32	12	Bidding	30	4
323	WITH IN GUNTUR MUNICIPAL CORPORATION LIMITS (BETWEEN HOLLYWOOD BOLLYWOOD CINEMA THEATRE AND NTR MUNICIPAL STADIUM)	GUNTUR	Regular	150	OBC	DC	20	20	500	32	75	Draw of Lots	15	4
324	WITH IN MANGALAGIRI TADEPALLI MUNICIPAL CORPORATION LIMITS (FROM BMW SHOWROOM TO MANGALAGIRI SUB REGISTRAR OFFICE ON MANGALAGIRI TADEPALLI ROAD- NOT ON NH/SH) - ON LEFT HAND SIDE	GUNTUR	Regular	120	OBC	DC	20	20	500	32	55	Draw of Lots	15	4
325	WITH IN MANGALAGIRI TADEPALLI MUNICIPAL CORPORATION LIMITS (FROM URVASHI MOVIE THEATRE TO NEW MISHRA DABHA - NOT ON SH/NH) - ON LEFT HAND SIDE	GUNTUR	Regular	120	OBC	DC	20	20	500	32	55	Draw of Lots	15	4
326	WITH IN TENALI MUNICIPAL LIMITS (BETWEEN POTTISRIRAMULU STATUE UNDER GUNTUR TENALI FLYOVER AND TENALI RAILWAY STATION - NOT ON NH/SH)	GUNTUR	Regular	130	OBC	DC	20	20	500	32	55	Draw of Lots	15	4
327	Within 3km from Koyavaripalem junction on Guntur - prathipadu road (SH)	Guntur	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
328	within 2 km from pulladigunta Junction on chunttugunta to Perecherella road (NH-544D) WITH IN 2KM FROM UMESHCHANDRA STATUE, TENALI ON SH TOWARDS SANGAM JAGARLAMUDI ON	Guntur	Regular	155	OBC	DC	20	20	500	32	75	Draw of Lots	15	4
329	GUNTUR AUTO NAGAR (FROM JAYALAKSHMI HONDA SHOWROOM TO JASPER TATA MOTORS	GUNTUR	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
330	SHOWROOM ON OLD GRAND TRUNK ROTE . LEET HAND SIDE BETWEEN USHODAYA SUPER MARKET, TADEPALLI AND APSDMA (GENIOUS JR TOWERS) ON LEFT HAND	GUNTUR	Regular	267	OPEN	DC	20	20	500	32	75	Draw of Lots	15	5
331	SIDE OF NH-16 (FROM VIJAYAWADA TO CHENNAI)	GUNTUR	Regular	250	OPEN	СС	35	35	1225	32	12	Bidding	30	5
332	BETWEEN DMART, TADEPALLI AND SUDHA HOSPITAL, TADEPALLI ON LEFT HAND SIDE OF NH-16 (FROM CHENNAI TO VIJAYAWADA) GUNTUR AUTO NAGAR (FROM INNER RING ROAD JUNCTION TO APIIC LIMITED ZONAL OFFICE ON OLD	GUNTUR	Regular	250	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
333	GRAND TRUNK ROAD) - ON LEFT HAND SIDE	GUNTUR	Regular	249	OPEN CC 1	DC	20	20	500	32	75	Draw of Lots	15	5
334	WITH IN GUNTUR MUNICIPAL CORPORATION LIMITS (FROM ITC WELCOME HOTEL TO ALAPATI VENKATARAMAIAH PARK) - LEFT HAND SIDE WITH IN GUNTUR MUNICIPAL CORPORATION LIMITS (FROM VATURI LIREAN) CUNIC TO JACABIAMUDI.	GUNTUR	Regular	163	OPEN	СС	20	20	500	32	12	Bidding	30	5
335	WITH IN GUNTUR MUNICIPAL CORPORATION LIMITS (FROM KATURI URBAN CLINIC TO JAGARLAMUDI KOPPUSWAMY CHOWDARY STATUE) - LEFT HAND SIDE	GUNTUR	Regular	158	OPEN	СС	20	20	500	32	12	Bidding	30	5
336	BETWEEN MILESTONE 1141 TO 1137 ON LEFT HAND SIDE OF NH-16 (FROM CHENNAI TO VIJAYAWADA)	GUNTUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
337	WITH IN GUNTUR MUNICIPAL CORPORATION LIMITS (BETWEEN CHUTTAGUNTA CENTER AND HAZRATH KALE MASTHAN SHAVALI BABA DARGAH)	GUNTUR	Regular	156	OBC	DC	20	20	500	32	75	Draw of Lots	15	4
338	WITH IN GUNTUR MUNICIPAL CORPORATION LIMITS (FROM KTM BIKE SHOWROOM TO AMBEDKAR CIRCLE AT LODGE CENTER -ON AMARAVATI ROAD) - LEFT HAND SIDE	GUNTUR	Regular	150	OPEN	СС	20	20	500	32	12	Bidding	30	5
339	WITH IN GUNTUR MUNICIPAL CORPORATION LIMITS (FROM JKC COLLEGE TO RTO OFFICE) - LEFT HAND SIDE	GUNTUR	Regular	150	OPEN	DC	20	20	500	32	75	Draw of Lots	15	5
340	WITH IN MANGALAGIRI TADEPALLI MUNICIPAL CORPORATION LIMITS (WITH IN 2 KM FROM SREE FORTUNE GRAND HOTEL - ON TADEPALLI-NUTAKKI VIA GUNDIMEDA ROAD - NOT ON SH/NH)	GUNTUR	Regular	100	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
341	WITH IN 2 KM FROM UPPALAPADU BIRDS SANCTURARY, ON SH CONNECTING GUNTUR AND HANUMANPALEM	GUNTUR	Regular	110	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
342	WITH IN GUNTUR MUNICIPAL CORPORATION LIMITS (BETWEEN RAMESH HOSPITALS AND POLICE PARADE GROUND)	GUNTUR	Regular	160	OPEN PH	DC	20	20	500	32	75	Draw of Lots	15	5
343	WITH IN GUNTUR MUNICIPAL CORPORATION LIMITS (BETWEEN GREEN GRACE APARTMENTS AND GUJJANAGUNDLA CIRCLE VIA CHEBROLU HANUMAIAH CIRCLE)	GUNTUR	Regular	151	OPEN	сс	20	20	500	32	12	Bidding	30	5
344	WITH IN GUNTUR MUNICIPAL CORPORATION LIMITS (BETWEEN VIJETHA SUPER MARKET AND CHEBROLU HANUMAYYA CIRCLE)	GUNTUR	Regular	150	OPEN CC 1	DC	20	20	500	32	75	Draw of Lots	15	5
345	NIDAMARRU VILLAGE, (BETWEEN HANUMAN TEMPLE AND ZP HIGH SCHOOL, NIDAMARRU - ON ROAD CONNECTING MANGALAGIRI AND NIDAMARRU)	GUNTUR	Regular	100	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5

	Corporation Limited (IUCL) proposes to appoint Retail Outlet dealers in ANDHKA PKADESH State as per			Estimated									Fixed Fee /	Security
SI. No.	Name Of Location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	mension (ir e Site (in Sq.		Finance to be arran	ged by the applicant	Mode of selection	Min bid amount (Rs. in Lakhs)	Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	s indicated are based on market conditions and may undergo change. Applicants are advised to make the													
· The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	id have firm offer for the same.			OBC									Т
	Within 2Km from Chuttugunta centre towards Nallapadu			MS + HSD in KLs	OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
346	on RHS on NH-544D	Guntur	Regular	160	OPEN CC 1	DC	20	20	500	32	75	Draw of Lots	15	5
347	Within 5 km from Perecherela cross road towards satenapali on LHS (NH-167AG)	Guntur	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
348 349	Within 2Km from Chuttugunta centre towards Nallapadu on LHS within -2 km from Kakumanu Sivalayam Temple on Pedanandipadu-Bapatla road (SH)	Guntur Guntur	Regular Regular	160 115	OPEN OPEN	DC DC	20 30	20 30	500 900	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
350	WITH IN GUNTUR MUNICIPAL CORPORATION LIMITS (FROM RYTHU BAZAR GUNTUR TO RAILWAY OVER BRIDGE ON NANDIVELUGU ROAD) - LEFT HAND SIDE	GUNTUR	Regular	150	OBC	СС	20	20	500	32	12	Bidding	30	4
351	WITH IN TENALI MUNICIPAL LIMITS (BETWEEN RAJAKA CHERUVU PARK AND ANDHRA EVANGELICAL LUTHERAN CHURCH, ITHANAGAR -NOT ON NH/SH)	GUNTUR	Regular	140	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
352	BETWEEN MORAMPUDI AND REVENDRAPADU ON LEFT HAND SIDE OF SH CONNECTING TENALI AND MANGALAGIRI	GUNTUR	Regular	100	OPEN CC 2	DC	30	30	900	32	75	Draw of Lots	15	5
353	BETWEEN LAM AND TADIKONDA - PONEKALLU CROSS ROAD ON RIGHT HAND SIDE WHILE MOVING FROM GUNTUR TO AMARAVATI ON SH	GUNTUR	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
354	WITH IN 2 KM FROM KL UNIVERSITY TOWARDS KUNCHANAPALLI VILLAGE (ON ROAD CONNECTING KUNCHANAPALLI AND REVENDRAPADU) - NOT ON NH	GUNTUR	Regular	100	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
355	Within 5 km from Perecherela cross road towards sattenapali on RHS (NH-167AG)	Guntur	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
356	From Machavaram road junction at Mulukuduru to Peddapalle road junction at Chintalapudi on ponnur to bapatla road (SH)	Guntur	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
357	EITHER SIDE 1KM FROM SAI RAM FAMILY RESTAURANT ON LEFT HAND SIDE OF NH-16(BETWEEN MANGALAGIRI AND KAZA TOLLPLAZA)	GUNTUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
358	From LAKSHMIPURAM CHALLAPALLI JUNCTION ON NH 216 to 1 KM BEFORE MOPIDEVI TOLL GATE	KRISHNA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
359 360	NIDUMOLU JUNCTION TO BEL NEW BUILDING IN NH 65 LHS FROM PEDDA MAJERU JUNCTION TO PEDANA ON NH 216	KRISHNA KRISHNA	Regular Regular	150 150	OBC OPEN	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
361	Chinna Avutapalli Pinamaneni Siddartha Medical college to Ampapuram Ramalayam on NH 16, LHS	KRISHNA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
362	Volvo Car show Room at nidamanuru to HCL IT park Gannavaram on NH 16, RHS	KRISHNA	Regular	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
363	within 2 km from intersection of telaprolu vuyyuru valluru road (SH 280) and Gudivada Road (SH-233), on telaprolu vuyyuru valluru road SH 280	KRISHNA	Regular	100	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
364 365	WITHIN 7 KM FROM ZP CENTRE MACHILIPATNAM TOWARDS MANGINAPUDI ON SH 259	KRISHNA KRISHNA	Regular	100 150	OPEN OBC PH	CC	30	30	900	32	12	Bidding Draw of Lots	30 15	5 4
365 366	BENZ CIRCLE TO AUTONAGAR BUS TERMINUS JUNCTION ON NH 65 WITHIN 4 KM FROM ZP CENTRE MACHILIPATNAM TOWARDS JAVVARPET ON LHS	KRISHNA	Regular Regular	150	OBC PH OPEN	DC DC	35 20	35 20	1225 500	32 32	95 55	Draw of Lots Draw of Lots	15	5
367	KANKIPADU FLYOVER JUNCTION TOWARDS PUNADIPADU WITHIN 3 KM ON SH 306	KRISHNA	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
368	FROM NAVATHA TRANSPORT OFFICE KANURU TOWARDS KAMMAYATHOPU JUNCTION KANURU	KRISHNA	Regular	100	OBC	DC	20	20	500	32	55	Draw of Lots	15	4
369	MACHILIPATNAM TOWN (WITHIN MUNICIPAL LIMITS, NOT ON HIGHWAY)	KRISHNA	Regular	100	OPEN	CC	20	20	500	32	12	Bidding	30	5
370 371	MACHILIPATNAM BYPASS ROAD(MUDUSTAMBALA CENTER - HOUSING BOARD COLONY) WITHIN 3 KM FROM PAMARRU NTR CIRCLE ON SH 328	KRISHNA KRISHNA	Regular Regular	100 100	OPEN OBC	CC	20 30	20 30	500 900	32 32	12 12	Bidding Bidding	30 30	5 4
372	On RHS Within 1km from Surampalli Cross road towards Gannavaram Via Cipet -CSTS Vijayawada	KRISHNA	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
373	AUTONAGAR GATE ARCH TO 15 KM TOWARDS MACHILIPATNAM ON NH65 LHS	KRISHNA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
374	FROM SANDHYA AQUA FEEDS PAMARRU TO 1 KM BEFORE DAVALURU TOLL GATE ON NH 65	KRISHNA	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
375 376	KRISHNA DISTRICT SAHAKARAKENDRA BANK JAVVARPET MACHILIPATNAM TO ZP CENTRE CIRCLE ON LHS	KRISHNA KRISHNA	Regular	100 150	SC SC	CFS	20 35	20 35	500 1225	0	0	Draw of Lots	0	3
376	From Hanuman Junction to Sub Registar office kanumolu on NH 216 H Within 5 Km from Grama Sachivalayam pamarru-1 towards Addada on NH 165	KRISHNA	Regular Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots Draw of Lots	0	3
378	Within 4 km from pinnamaneni medical college towards vijayawada on NH 16	KRISHNA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
379	From MPP school Bommaluru to Gudlavalleru Market yard on NH 216H LHS	KRISHNA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
380	Within 4 km from uppuluru Primary Health Center towards kesarapally on SH 306	KRISHNA	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
381 382	Ayush Hospital to AP MARKFED Head Office on APIIC ROAD, Vijayawada	NTR	Regular	150 100	OPEN OPEN	DC DC	18	18	500	32 32	75 55	Draw of Lots Draw of Lots	15 15	5
382	Gudivada Municipal Limits not on SH/NH Enkipadu Panchayati Office to Volvo Car Show Room at Nidamanuru on NH 16, RHS	KRISHNA KRISHNA	Regular Regular	150	SC	CFS	20 35	20 35	500 1225	0	0	Draw of Lots Draw of Lots	0	3
384	Within 5 KM from Pedana MRO Office, towards Nandamuru on NH216 , LHS	KRISHNA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
385	Pedana within Municipal Limits(Not on NH/SH)	KRISHNA	Regular	100	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
386	Gudivada municipal limits (with in 2 km from Bhimeshwara temple on Gudivada- Bantumilli Road	KRISHNA	Regular	100	ST	CFS	20	20	500	0	0	Draw of Lots	0	3
387	WITHIN 3 KM FROM GUDIVADA-KANKIPADU JUNCTION TOWARDS GUDIVADA ON SH 243	KRISHNA	Regular	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0] 3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	imension (ii e Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to make the		•	•			•						•	
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	ld have firm offer for the same.			I					1				
388	NIDUMOLU TO KUCHUPUDI ELEMENTARY SCHOOL ON SH 253	KRISHNA		MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH OBC	CC / DC / CFS	Frontage	Depth 30	Area 900	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding Draw of Lots	15	A
389	From Pedayadara to Machilipatnam on SH 338	KRISHNA	Regular Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
390	KT road- Milk project bus stop to 2 town police station, Vijayawada city - either side	NTR	Regular	160	OPEN	DC	20	20	500	32	75	Draw of Lots	15	5
391	Gollapudi Y Jn to 261 km stone on NH 65 - LHS	NTR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
392	After 1 Km from Keesera Toll booth TILL 5KM on NH 65 - Vijayawada to Hyderabad (LHS)	NTR	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
393	MUKTESWARAPURAM VILLAGE ON SH216	NTR	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
394	Jaggeypeta- RTC bus stand to NH 65 junction on Kodad Rd- Jaggeypeta Municipality Limits	NTR	Regular	100	OBC	DC	20	20	500	32	55	Draw of Lots	15	4
395	WITHIN 2 KM FROM NH-65 JUNCTION ON SH-217 (DONABANDA TO KEESARA ROAD)	NTR	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
396	AFTER 7 KMS FROM IBRAHIMPATNAM CIRCLE TILL 12KMS TOWARDS TIRUVURU ON NH 30	NTR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
397	Benz circle to Ramavarappadu Ring in Vijayawada	NTR	Regular	150	OBC	CC	20	20	500	32	12	Bidding	30	4
398	WITH IN 6 KMS, FROM IBRAHIMPATNAM CIRCLE TOWARDS TIRUVUR ON NH 30(RHS)	NTR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
399	WITH IN 3 KMS FROM VISSANNAPETA POLICE STATION TOWARDS NUZVID ON TIRUVUR - VISSNNAPETA - - NUZVID ROAD ON NH 216 H WITH IN 3 KM FROM NADAR'S FUNCTION HALL ON BHAGAT SINGH ROAD TOWARDS AJITH SINGH	NTR	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
400	NAGAR IN VIJAYAWADA	NTR	Regular	150	OBC	cc	18	18	500	32	12	Bidding	30	4
401	PSC BOSE ROAD AUTONAGAR TO CURRENCY NAGAR, VIJAYAWADA	NTR	Regular	150	OPEN	DC	20	20	500	32	75	Draw of Lots	15	5
402	FROM ELURU ROAD TO AMMA FUNCTION HALL VIA A S RAMA RAO ROAD IN VIJAYAWADA	NTR	Regular	150	OPEN	DC	18	18	500	32	75	Draw of Lots	15	5
403	Vijayawada City MG ROAD between Benz Circle to Police Control Room - LHS	NTR	Regular	250	SC CC 1	CFS	20	20	500	0	0	Draw of Lots	0	3
404	Vijayawada City MG ROAD between Benz Circle to Police Control Room - RHS	NTR	Regular	250	OPEN	CC	20	20	500	32	12	Bidding	30	5
405	Bhavanipuram Swathi center to VMC arch- either side (within municipal limits)	NTR	Regular	180	OPEN	CC	20	20	500	32	12	Bidding	30	5
406	Between 256 KM Stone and 250 Km Stone on NH 65- LHS Towards Hyderabad	NTR	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
407 408	Between 256 KM Stone and 250 Km Stone on NH 65- RHS Towards Hyderabad	NTR	Regular	190	OBC OPEN	CC DC	35	35	1225	32 32	12	Bidding	30 15	5
408	Gollapudi Y Jn to 261 km stone on NH 65 - RHS After 1 Km from Keesera Toll booth TILL 5KM on NH 65 - Vijayawada to Hyderabad (RHS)	NTR NTR	Regular Regular	160 180	OBC PH	CC	35 35	35 35	1225 1225	32	95 12	Draw of Lots Bidding	30	4
410	KANCHIKACHERLA TO CHEVITIKALLU ON SH 30, NH 65 Junction to SH 217 junction	NTR	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
411	Within 2 km from NH 30 Jn on SH (Chemalapadu to Gampalagudem Road)	NTR	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
412	NANDIGAMA- MADHIRA ROAD JUNCTION ARCH - WITHIN 5 KM FROM ARCH ON SH TOWARDS	NTR	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
413	ON KARL MARX ROAD BEWTEEN SRI DAASAANJANEYA SWAMY VARI TEMPLE MACHAVARAM and COMRADE CHANDRA RAJESWARA RAO STATUE IN VIJAYAWADA	NTR	Regular	150	OPEN	СС	18	18	500	32	12	Bidding	30	5
414	MYLAVARAM BYPASS ON NH 30	NTR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
415	WITH IN 2KMS FROM ELECRICITY SUB STATION, MYLAVARAM TOWARDS TIRUVUR ON NH 30 (LHS)	NTR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
416	ON EITHER SIDE, FROM 2.KMS TO 6 KMS (0 KM STARTING FROM RAMAVARAPPADU RING ROAD JUNCTION) ON IRR	NTR	Regular	150	OPEN	DC	20	30	600	32	75	Draw of Lots	15	5
417	WITH IN 3 KMS FROM ELECTRICITY POWER SUB STATION, NAGULUR ON REDDIGUDEM - MYLAVARAM ROAD (ON SH)	NTR	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
418	WITH IN 1 KM FROM MPP SCHOOL, NARSUPET ON NUZVID-NARSUPETA-GAMPALAGUDEM ROAD	NTR	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
419	WITH IN 3KMS FROM KARL MARX ROAD - BRTS ROAD JUNCTION ON BRTS ROAD, IN VIJAYAWADA	NTR	Regular	150	OPEN	CC	18	18	500	32	12	Bidding	30	5
420 421	KARL MARX ROAD - BRTS ROAD JUNCTION TO SRI DAASAANJANEYA SWAMY VARI TEMPLE ON KARL MARX ROAD IN VIJAYAWADA Nirmala Convent TO AUTONAGAR 100 FT CROSS PSC BOSE ROAD ON PANTA KALUVA ROAD	NTR NTR	Regular Regular	150 150	OPEN SC	DC CFS	18 20	18 20	500 500	32 0	75 0	Draw of Lots Draw of Lots	15	5
		INTE												
422	GURUNANAK COLONY ROAD (FROM RAMESH HOSPITAL JUNCTION TO AUTONAGAR PSC BOSE ROAD) MAHANADU ROAD VIJAYAWADA BOTH SIDES (BELLAMVARI STREET ROAD CROSS - SWEET MAGIC)	NTR NTR	Regular Regular	150 150	OBC CC 1 OPEN	DC DC	20	20	500	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
424	WITH IN 2KMS FROM CHANDRALA VILLAGE SECRETARIAT ON MYLAVARAM-CHANDRALA-NUZVID ROAD													4
	(SH)	NTR	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	· ·
425	WITH IN 6 KMS, FROM IBRAHIMPATNAM CIRCLE TOWARDS TIRUVUR ON NH 30(LHS)	NTR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
426	TIRUVURU MUNICIPAL LIMITS FROM TVS SHOWROOM, TIRUVURU TO APSRTC BUSSTAND TIRUVUR VIA REGISTRAR OFFICE NOT ON NH/SH	NTR	Regular	100	OBC	DC	20	20	500	32	55	Draw of Lots	15	4

SI. No.	orporation Limited (IULL) proposes to appoint Ketail Outlet dealers in ANUHKA PRAUESH State as per	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	imension (i e Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to make t													
* The site s	hould either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	lid have firm offer for the same.	1	1	ОВС								1	
	From Challagundia X road towards Narsaraopet on Right Hand Side with in 5 KM from Challagundia X		Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
427	Raod (On NH 167A)	PALNADU	Regular	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
428	From Agriculture Market Committee(AMC) Vinukonda to Enugupalem (On SH)	PALNADU	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
429	MALLAMMA CENTRE TO ISSAPALEM (On SH) within Narasaraopet Muncipal limits	PALNADU	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
430	Within 3 KM From Nekarikallu Mandal Revenue Office(MRO) towrads Kondamoodu Junction on Narketpalli Addanki Medarmatla Highway (LHS)	PALNADU	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	Within 2KM from Z.P High School Karumanchi (On Kocherla Elchuru SH)	PALNADU	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
432	VINUKONDA MUNICIPAL LIMITS (On Vellaturu Road)	PALNADU	Regular	100	OBC	DC	20	20	500	32	55	Draw of Lots	15	4
433	WITH IN CHILAKALURIPETA MUNICIPAL LIMITS (BETWEEN MANDAL REVENUE OFFICE AND CLOCK TOWER - NOT ON NH/SH) Rayavaram Junction to Paluvoi gate (On NH 167AD)	PALNADU PALNADU	Regular Regular	120 150	OBC OBC	CC DC	20 35	20 35	500 1225	32 32	12 95	Bidding Draw of Lots	30 15	4
	From Narasaraopet Mallamma Center to Grama Sachivalayam Ravipadu On NH 167A (LHS)	PALNADU	Regular	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
436	From Kesanupalli to Kavuru on NH 167A (LHS)	PALNADU	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
437	Narasaraopet Municipal Limits (On NH 167A)	PALNADU	Regular	150	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
438 439	From Macherla Ring road center towards Mandadi on NH 565 (With in 2 KM from Macherla Ring Road center)	PALNADU PALNADU	Regular	150 150	SC PH OPEN	CFS DC	35 35	35	1225 1225	0 32	0 95	Draw of Lots	0 15	3 5
440	From Savalyapuram to Brahmanapalle (On NH 544D) Within 2 KM from Rayawaram Junction to Durgi on LHS (On SH)	PALNADU	Regular Regular	110	OPEN	DC	30	35 30	900	32	75	Draw of Lots Draw of Lots	15	5
441	Between AP model High School and Sri Chakra Cements - On RHS (On Macherla-Karempudi-Vinukonda SH)	PALNADU	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
442	From Kotha Ambapuram to Gurazala (On NH 167AD)	PALNADU	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
443	NARASARAOPET Muncipal Limits(MALLAMMA CENTER TO SRI GNANA SARASWATHI DEVALAYAM ON OLD GUNTUR KURNOOL ROAD)	PALNADU PALNADU	Regular Regular	110	OPEN OPEN	CC DC	20	20	500 500	32 32	12 55	Bidding Draw of Lots	30 15	5
	Chitralaya Theatre to Narsaraopet R.T.A office (Within Narasaopet Municipal Limits) From Vinukonda Sivayya Sthupam Towards Karempudi (Within 4 KM from Sivayya Sthupam on													
445	Macherla Karempudi SH) Tummalacheruvu Toll PLAZA to Dachepalle Bus Stand on Narketpalli Addanki Medarmatla	PALNADU	Regular Regular	105	SC OPEN	CFS	30	30	900	0 32	12	Draw of Lots Bidding	30	5
	Highway(LHS)											-		
447	PIDUGURALLA MUNICIPAL LIMITS ON JANAPADU PILLUTLA ROAD (Not On SH)	PALNADU	Regular Regular	110	OBC OPEN	DC DC	20 35	20 35	500 1225	32 32	55 95	Draw of Lots Draw of Lots	15 15	5
448	BETWEEN MILESTONE 1181 TO 1183 ON LEFT HAND SIDE OF NH-16 (FROM VIJAYAWADA TO CHENNAI) Within 3 (Martom Kantepudi AELC church towards korapadu junction on Guntur Sattenapalli road (On	PALNADU	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
450	NH-167AG) Within 2km from Ramakrishna puram junction on guntur- sattenapalli (NH-167AG)	PALNADU	Regular	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
451	within zkm from Ramakrishna puram junction on guntur- sattenapalii (NH-167AG) From Pedamakkena bus stand to pakalapadu road junction at Gudipudi on sattenapalli to amaravati road (SH)	PALNADU	Regular	105	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
452	On New Piduguralla Bypass between Kondamoodu Junction and ABC Educational Institutions on LHS	PALNADU	Regular	100	OPEN CC 1	CC	30	30	900	32	12	Bidding	30	5
453	Rajupalem to Anupalem (On NH 167AG)	PALNADU	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
454 455	From Charlagudipadu to Gurazala (On SH)	PALNADU PALNADU	Regular	100	SC	CFS	30	30	900 1225	0 32	0	Draw of Lots	0 15	5
455	DACHEPALLI MARKET YARD TO NADIKUDI (On NH 167AD) Dachepalle Bustand to Dachepalle Market yard on Left Hand Side on Narketpalli Addanki Medarmatla		Regular	150	OPEN	DC	35	35		32	95 75	Draw of Lots		
456	Highway From Challagundla Cross Road to Nekarikallu Police Station - Left Hand Side (On Narketpalli Addanki	PALNADU	Regular Regular	100	OPEN SC	DC CFS	30	30	900	0	0	Draw of Lots Draw of Lots	0	3
458	Medarmatla Highway)	PALNADU		100		CFS	30	30	900	0	0	Draw of Lots	0	3
	From Z.P.High School Thubadu to Nadendla (On SH)		Regular		SC									
459	BETWEEN MILESTONE 1160 TO 1166 ON LEFT HAND SIDE OF NH-16 (FROM VIJAYAWADA TO CHENNAI) WITH IN 2 KM FROM SUZUKI SHOWROOM, CHILAKALURIPETA ON NH-167A TOWARDS		Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
460 461	NARASARAOPETA (FROM CHILAKALURIPETA TO NARASARAOPETA) - ON RIGHT HAND SIDE On LHS, From Mile stone 1253 to 1260(Vijayawada- Chennai) on NH-16	PALNADU PRAKASAM	Regular Regular	150 160	ST OPEN	CFS DC	35 35	35 35	1225 1225	0 32	0 95	Draw of Lots Draw of Lots	0 15	3
	On RHS,From Mile stone 1253 to 1260(Vijayawada- Chennai) on NH-16	PRAKASAM	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	imension (ii e Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to make the			•									•	
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	d have firm offer for the same.	1											
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	cc/dc/cFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
463	From Reliance Digital to Vishnupriya convention centre ongole muncipality limits (LHS)	PRAKASAM	Regular	110	OPEN	CC	20	20	500	32	12	Bidding	30	5
464	From Himagiri ice industries, Mulaguntapadu to Zarugumalli police station on State high way	PRAKASAM	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
465	With in 4 Kms From Vengalayapalli Govt School, Vengalayapalli towards Botlagudur village on Pedda alavalapadu- Botlagudur road (SH)	PRAKASAM	Regular	100	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
466	With in 8 Kms from Thaticherla Motu Junction towards Giddalur town on NH	PRAKASAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
467	After 1 km from Millampalle Toll Plaza till 6 Kms towards Macherla Town On NH	PRAKASAM	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
468	With in 3 Kms From Sri Venkateswara Theater, Cumbum Towards Bodicherla On Cumbum-Bodicherla Road (SH)	PRAKASAM	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
469	From Mangamuru road traffic signal junction to Ramesh Sanghamitra hospital Ongole muncipality limits(RHS)	PRAKASAM	Regular	110	ОВС	CC	20	20	500	32	12	Bidding	30	4
470	With in 3 Kms from Agriculture Market Yard, Kurichedu on Either side of Darsi-Vinukonda road (SH)	PRAKASAM	Regular	140	OPEN	CC	30	30	900	32	12	Bidding	30	5
471	With in 6 Kms From Karur Vysya Bank, Budawada Towards Podili Town on Ongole-Nandyal Road (SH)	PRAKASAM	Regular	110	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
472	With in 4 Kms From YSR Reddy Center, Giddalur Towards Racherla Village on Giddaluru-Cumbum Road	PRAKASAM	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
473	(SH) With in 4 Kms From Brahmam gari temple, Aravallipadu towards Podili on Donakonda-Podili road (SH)	PRAKASAM	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
474	With in 3Kms from Taticherla Motu Junction Towards Komarolu village on Right hand Side of	PRAKASAM	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
475	Taticherla-Mydukuru Road(SH)	PRAKASAM		100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
476	With in 4Kms from APSRTC Bus Depot, Podili towards chinnarikatla on Ongole-Nandyal Road (SH) From SP Office, Ongole Till Sri Pratiba Junior college Pernamitta LHS (Ongole-Nandyal Road)	PRAKASAM	Regular Regular	150	OPEN	CC	30	30	900	32	12	Bidding	30	5
477	With in 3Kms From Poleramma Temple pernamitta towards Kurnool Road Junction On Left Hand Side of Ongole-Nandyal Road	PRAKASAM	Regular	150	OPEN	СС	30	30	900	32	12	Bidding	30	5
478	With in 10 Km From Kothapatnam Restaurant, Giddalur towards nandyal on NH	PRAKASAM	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
479	On Chimakurthy Bypass road, Chimakurthy Mandal	PRAKASAM	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
480	With in 2 Kms from Ponnaluru Police Station on either side of Kandukur-Kanigiri Road (SH)	PRAKASAM	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
481	With in 4Kms from Sadhana Restaurant, Kanigiri town Towards Hm Padu village On Ollapalem- Vemulapadu Road (SH)	PRAKASAM	Regular	100	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
482	With in 6 Kms From Magunta Subbarama Reddy Statue , Kanigiri towards Pamuru town On Kanigiri-	PRAKASAM	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
483	Pamuru Road (NH 565) With in 3 Kms From Chinna dornala adda road Junction towards Devarajugattu on SH (Dornala-	PRAKASAM	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
	Devaraju gattu road)	-												· ·
484	From Pamuru Bus Stand Kanigiri with in 4 Kms towards Punugodu village on Kanigiri-Gudipadu Road Between Summer Storage Tank, Ongole till Bhagiradha Chemical Industries Limited on Ongole-Ponduru	PRAKASAM	Regular	100	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
485	Road	PRAKASAM	Regular	100	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
486	With in 5Kms from YSR Center, Giddalur Towards Komarolu on (Giddalur-Narava-Komarole Road (SH))	PRAKASAM PRAKASAM	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
487 488	Sivaramapuram Village, Tallur Mandal on Vellampalli-Tallur road (SH)	PRAKASAM PRAKASAM	Regular	100	OBC OBC	DC DC	30 30	30 30	900	32 32	75 75	Draw of Lots Draw of Lots	15 15	4
488	With in 6 Kms From Karur Vysya Bank, Budawada towards Chimakurthy Town on Ongole-Nandyal Road	PRAKASAM	Regular Regular	140	OPEN	DC	35	35	1225	32	75 95	Draw of Lots Draw of Lots	15	5
489	From Mile stone 1228 to 1238(Vijayawada- Chennai) on NH-16 (LHS) From Mile stone 1234 to 1238(Vijayawada- Chennai) on NH-16 (RHS)	PRAKASAM	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
491	Doddavaram PACS ltd to Sri Rajarajeswari temple at Doddavaram on SH	PRAKASAM	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
492	With in 3KM frm Darsi clock tower junction(Darsi) towards kurichedu road on SH	PRAKASAM	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
493	From Aggricultural market yard to Ravipriya shopping mall and mutliplex in ongole muncipality limits (LHS)	PRAKASAM	Regular	120	OPEN	сс	20	20	500	32	12	Bidding	30	5
494	From Mangamuru road traffic signal junction to Ramesh Sanghamitra hospital Ongole muncipality	PRAKASAM	Regular	100	OPEN	СС	20	20	500	32	12	Bidding	30	5
495	With in 2.5KM from Mangamuru Traffic signal junction Towards Mangamuru in Ongole muncipality	PRAKASAM	Regular	120	OPEN	cc	20	20	500	32	12	Bidding	30	5
496	After 1 Km from Makalayarinalla, toll plaza till 6 Kms towards Konakanamitla village on NH	PRAKASAM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
496	After 1 Km from Mekalavaripalle toll plaza till 6 Kms towards Konakanamitla village on NH With in 6Kms from MPP School, Somavarapeta towards Devarajugattu Village on NH (land shouldn't be	PRAKASAM	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Under Flyover) With in 7 Kms From Chatlamitta Village,Peddaraveedu mandal towards Dornala on Guntur-Dornala		-											
498	Road (NH)	PRAKASAM	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di	mension (ii Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	s indicated are based on market conditions and may undergo change. Applicants are advised to make the													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	ld have firm offer for the same.			OBC									
				MS + HSD in KLs	OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	cc/dc/cfs	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
499	After 1 Km from Medapi Toll Plaza Till 6 Kms Towards Vinukonda Town on NH	PRAKASAM	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
500	With in 6 Kms from Atmananda Swamy Temple, Boyalapalli towards Markapur town on Yerragondapalem-Markapur road (NH)	PRAKASAM	Regular	150	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
501	With in 6Kms FromSub Registrar Office Santhanuthalapadu towards Chimakurthy on Ongole Nandyala Road	PRAKASAM	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
502	With in 5 Kms From Sanjiva Rao Peta Village , Giddalur Mandal towards kalasapadu on Giddalur- Porumamilla Road (SH)	PRAKASAM	Regular	100	OPEN CC 2	DC	30	30	900	32	75	Draw of Lots	15	5
503	From Mile stone 1265 to 1273(Vijayawada- Chennai) on NH-16 (LHS)	PRAKASAM	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
504	On NH16 - LHS , From (APSTRC Zonal Training Centre , Kakuturu) To (Krishnapatnam Port Road Junction).	SRI POTTI SRIRAMULU NELLORE	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
505	On Nellore-Podalakur Road , Within 2KM distance from Mogallapalem-South Mopur Road Junction.	SRI POTTI SRIRAMULU NELLORE	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
506	On NH565 - Either Side , Within 4KM distance From Rapur RTC Bus Stand Towards Venkatagiri	SRI POTTI SRIRAMULU NELLORE	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
507	On Nellore-Mulumudi-Tatiparthi Road , From (Buchi-Jonnawada Road Junction) To(South Mopur- Mogallapalem Road Junction).	SRI POTTI SRIRAMULU NELLORE	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
508	Within Nellore Municipal Limits , On Nellore-Kodur Road - Either Side , From (Atamakur Bus Stand) To (SBI Allipuram Branch).	SRI POTTI SRIRAMULU NELLORE	Regular	150	OBC	DC	18	18	500	32	75	Draw of Lots	15	4
509	On NH16 (Chennai-Vijayawada Highway) From Politechnic college at rudrakota to Mile stone 1307- RHS	SRI POTTI SRIRAMULU NELLORE	Regular	225	OBC	СС	35	35	1225	32	12	Bidding	30	4
510	On NH16 (Chennai-Vijayawada Highway) From RNR collage at North rajupalem to Iffco Kisan Sez Office- RHS	SRI POTTI SRIRAMULU NELLORE	Regular	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
511	On Kavali Udayagiri road with in 2 km from Jaladanki Bus stand towards kavali on either side	SRI POTTI SRIRAMULU NELLORE	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
512	On Trunk road (Old NH), From Brindavanam Colony Kalyana mandapam to Sridevi convention (Within Kavali Municipal limits)- Either side	SRI POTTI SRIRAMULU NELLORE	Regular	140	ОВС	CC	20	20	500	32	12	Bidding	30	4
513	On trunk road (Old NH) from Kavali APSRTC Busstand to Brindavanam Colony Kalyana mandapam - RHS (Within Kavali Municipal limits)	SRI POTTI SRIRAMULU NELLORE	Regular	145	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
514	Allur police station to isakapalle within Allur Nagarapanchayath limits	SRI POTTI SRIRAMULU NELLORE	Regular	104	OBC	DC	20	20	500	32	55	Draw of Lots	15	4
515	On Kandukuru -Gudluru Road within 4km from Kondamudusupalem Chennakesava Tample towards Gudluru	SRI POTTI SRIRAMULU NELLORE	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
516	on Buchi - Utukur road, Within 5KM From Kodavalur police station towards Vidavalur on Highway	SRI POTTI SRIRAMULU NELLORE	Regular	100	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
517	On Nellore-Muthukur Road , Within 4KM distance From Venkatachalam-Muthukur Road Junction Towards Nellore.	SRI POTTI SRIRAMULU NELLORE	Regular	100	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
518	On Krishnapatnam Port Road - Either Side , Within 11KM distance From NH16 Junction.	SRI POTTI SRIRAMULU NELLORE	Regular	260	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
519	On NH16 - LHS , From (Venkatachalam-Muthukur Road Junction) To (Grand Trunk Road Junction near Nellore NHAI Office).	SRI POTTI SRIRAMULU NELLORE	Regular	200	OPEN	СС	35	35	1225	32	12	Bidding	30	5
520	On Gudur-Rajampet Road , Within 5KM distance from Sydapuram ZP High School Towards Rapur.	SRI POTTI SRIRAMULU NELLORE	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
521	Within Nellore Municipal Limits , On Podalakur Road - Either Side , Within 4KM distance From AP Civil Supplies Godowns Towards Nellore SP Office.	SRI POTTI SRIRAMULU NELLORE	Regular	160	OBC	DC	18	18	500	32	75	Draw of Lots	15	4
522	On NH16 - RHS , Within 4KM distance From Nellore Children's Park Road Junction Towards Vijayawada.	SRI POTTI SRIRAMULU NELLORE	Regular	200	OPEN	CC	30	30	900	32	12	Bidding	30	5
523	On NH16 - RHS , From (Grand Trunk Road Junction near Nellore NHAI Office) To (Nellore Children's Park Road Junction).	SRI POTTI SRIRAMULU NELLORE	Regular	200	OPEN	СС	30	30	900	32	12	Bidding	30	5
524	On NH16 - LHS , From (Grand Trunk Road Junction near Nellore NHAI Office) To (Nellore Children's Park Road Junction).	SRI POTTI SRIRAMULU NELLORE	Regular	200	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
525	On NH16 - LHS , Within 4KM distance From Nellore Children's Park Road Junction Towards Vijayawada.	SRI POTTI SRIRAMULU NELLORE	Regular	200	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
526	On Krishnapatnam Port Road - Either Side , Within 3KM distance From Adani Krishnapatnam Port Zero Point (West Gate).	SRI POTTI SRIRAMULU NELLORE	Regular	260	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
527	Within Nellore Municipal Limits , On Grand Trunk Road - Either Side , From (Sri Magunta Subba Rami Reddy Statue) To (Atmakur Bus Stand).	SRI POTTI SRIRAMULU NELLORE	Regular	200	OPEN	DC	18	18	500	32	75	Draw of Lots	15	5
528	Within Nellore Municipal Limits , On Mini Bypass Road - Either Side , From (NUDA Office) To (Bezawada Gopal Reddy Statue).	SRI POTTI SRIRAMULU NELLORE	Regular	170	OPEN	DC	18	18	500	32	75	Draw of Lots	15	5
529	On NH16 (Chennai-Vijayawada Highway) From Mile stone 1286 to 1284 -RHS	SRI POTTI SRIRAMULU NELLORE	Regular	195	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

	Corporation Limited (IOCL) proposes to appoint Retail Outlet dealers in ANDHRA PRADESH State as per	lonoming decidio		I			l			I			Fixed Fee /	
SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	mension (ir e Site (in Sq.		Finance to be arran	ged by the applicant	Mode of selection	Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to make the		•	•			•			•			•	
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	ld have firm offer for the same.			lone I		1			1				1
530	Within 1 KM from Kandukuru Rural Police Station on Kovur road towards kovur within Kandukuru			MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH OPEN	cc/bc/cfs	Frontage	Depth	Area 500	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding	30	5
530	municipal limits	SRI POTTI SRIRAMULU NELLORE	Regular	110	OPEN	CC	18	18	500	32	12	Bidding	30	3
531	Within Nellore Municipal Limits , On Mini Bypass Road - Either Side , From (Bezawada Gopal Reddy Statue) To (Atmakur Bus Stand).	SRI POTTI SRIRAMULU NELLORE	Regular	200	OPEN	DC	18	18	500	32	75	Draw of Lots	15	5
532	Within Nellore Municipal Limits , On Children's Park Road - Either Side , From (NH16 Junction) To (Nellore-Muthukur Road Junction).	SRI POTTI SRIRAMULU NELLORE	Regular	200	OPEN	DC	18	18	500	32	75	Draw of Lots	15	5
533	Within Nellore Municipal Limits , On Grand Trunk Road - Either Side , From (NH16 Junction near Nellore NHAI Office) To (SBI Vedayapalem Branch).	SRI POTTI SRIRAMULU NELLORE	Regular	200	OBC	CC	18	18	500	32	12	Bidding	30	4
534	Within Nellore Municipal Limits , On Mini Bypass Road - Either Side , From (Ayyappa Gudi Centre) To	SRI POTTI SRIRAMULU NELLORE	Regular	200	ОВС	СС	18	18	500	32	12	Bidding	30	4
535	(NUDA Office). Within Nellore Municipal Limits , On Grand Trunk Road - Either Side , From (Sri Magunta Subba Rami		Regular	250	OPEN	CC	18	18	500	32	12	Bidding	30	5
536	Reddy Statue) To(Nellore Vidyut Bhavan , AK Nagar). Within Nellore Municipal Limits , On Muthukur Road - Either Side , From (VRC Centre) To (Narayana	SRI POTTI SRIRAMULU NELLORE	Regular	200	OBC	DC	18	18	500	32	75	Draw of Lots	15	4
537	Medical College Entrance Road). Within Nellore Municipal Limits , On Podalakur Road - Either Side , From (Walkers Road Junction near	SRI POTTI SRIRAMULU NELLORE	Regular	170	ST	CFS	18	18	500	0	0	Draw of Lots	0	3
538	ACB Office) To (IRCS Cancer Hospital). Within Nellore Municipal Limits, On Golagamudi Road - Either Side, Within 1KM distance From NH16	SRI POTTI SRIRAMULU NELLORE SRI POTTI SRIRAMULU NELLORE	Regular	150	OPEN	CC	18	18	500	32	12	Bidding	30	5
539	Junction Towards Annamayya Circle. On NH16 - LHS , From (Krishnapatnam Port Road Junction) To (Manubolu Power Substation).	SRI POTTI SRIRAMULU NELLORE	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
540	On NH565 - Either Side , Within 12KM distance from Atmakur-Somasila Road Cross.	SRI POTTI SRIRAMULU NELLORE	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
541	On NH16 (Chennai-Vijayawada Highway) From Mile Stone 1344 to 1km before Musunur toll plaza-LHS	SRI POTTI SRIRAMULU NELLORE	Regular	195	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
542	With in 4 kms from Voletivaripalem police station towards kandukur on NH	SRI POTTI SRIRAMULU NELLORE	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
543	On Kavali Udayagiri road Between Jaladnki bus stand and Kondapuram road junction at kaligiri	SRI POTTI SRIRAMULU NELLORE	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
544	On NH16 - RHS , From (Krishnapatnam Port Road Junction) To (Manubolu Power Substation).	SRI POTTI SRIRAMULU NELLORE	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
545	On NH16 (Chennai-Vijayawada Highway) After 1km from Penna Bridge to Kovur road junction-LHS	SRI POTTI SRIRAMULU NELLORE	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
546	On Kavali Udayagiri road Between Kondapuram road junction at kaligiri to bunglow centre at vinjamur Within Nellore Municipal Limits, On the road leading from NH16 to Kodurupadu via SLS Power Limited,	SRI POTTI SRIRAMULU NELLORE	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
547	From (NH16 Junction) To (Kothakaluva-Pallipadu Road Junction). On trunk road (Old NH) from Kavali APSRTC Busstand to Brindavanam Colony Kalyana mandapam - LHS	SRI POTTI SRIRAMULU NELLORE	Regular	160	OPEN	DC	18	18	500	32	75	Draw of Lots	15	5
548	(Within Kavali Municipal limits)	SRI POTTI SRIRAMULU NELLORE	Regular	170	ST	CFS	20	20	500	0	0	Draw of Lots	0	3
549	within kandukuru muncipality limits towards venkatadripalem village road	SRI POTTI SRIRAMULU NELLORE	Regular	100	OPEN PH	DC	20	20	500	32	55	Draw of Lots	15	5
550	On Podalakur-Sangam Road , From (ZP High School , Viruvur) To (Nellore-Mulumudi-Tatiparthi Road Junction).	SRI POTTI SRIRAMULU NELLORE	Regular	100	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
551	On Manubolu-Podalakur Road , Within 9KM distance from NH16 Junction Towards Veerampalli.	SRI POTTI SRIRAMULU NELLORE	Regular	100	OBC PH	DC	30	30	900	32	75	Draw of Lots	15	4
552	On NH16 (Chennai-Vijayawada Highway) From Nellore Grand Hotel at Kovur to RNR college at North rajupalem -LHS	SRI POTTI SRIRAMULU NELLORE	Regular	250	OPEN	СС	35	35	1225	32	12	Bidding	30	5
553	On NH16 (Chennai-Vijayawada Highway)After 1 Km from Musunur toll plaza to politechnic college at Rudrakota -LHS	SRI POTTI SRIRAMULU NELLORE	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
554	on NH-16 (Chennai- Vijayawada Highway) From Mile stone 1305 to 1297 -LHS	SRI POTTI SRIRAMULU NELLORE	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
555	on NH-16 (Chennai-Vijayawada Highway) From Mile stone 1302 to 1297 -RHS	SRI POTTI SRIRAMULU NELLORE	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
556	With in 8KM from Kandukuru MRO Office towards singarayakonda on NH	SRI POTTI SRIRAMULU NELLORE	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
557	On kaligiri kondapuram road 9 kM distance from kondapuram road junction at Kaligiri	SRI POTTI SRIRAMULU NELLORE	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
558	On NH16 (Chennai-Vijayawada Highway) From Mile Stone 1332 to 1 km before Musunur toll plaza -RHS	SRI POTTI SRIRAMULU NELLORE	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
559	On Kaligiri sangam road with in 2km from mandal office circle at kaligiri - not on NH	SRI POTTI SRIRAMULU NELLORE	Regular	109	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
560	On NH67-Either Side , From (Kovur Road Junction near Kovur Saluchinthala Centre) To(1KM Before Buchireddypalem Toll Plaza).	SRI POTTI SRIRAMULU NELLORE	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
561	Between Dharakonda Village, Gudem Kothaveedhi Mandal and Sileru Village, Gudem Kothaveedhi Mandal on SH (On Chinthapalli to Sileru Main Road)	ALLURI SITHARAMA RAJU	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
562	BETWEEN GANGARAJU MADUGULA AND CHEPALLE (IN GANGARAJU MADUGULA MANDAL) ON NH- 516E	ALLURI SITHARAMA RAJU	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	mension (ir e Site (in Sq.		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	s indicated are based on market conditions and may undergo change. Applicants are advised to make the													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	ld have firm offer for the same.	1		OBC					I				т —
	BETWEEN PADERU, PADERU MANDAL AND HUKUMPETA, HUKUMPETA MANDAL ON NH-516-E (NOT			MS + HSD in KLs	OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
563	ON R AND B ROAD)	ALLURI SITHARAMA RAJU	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
564	FROM PINAGADI NH - 16 JUNCTION TO GULLEPALLI VILLAGE, SABBAVARAM MANDAL ON SH (NOT ON NH)	ANAKAPALLI	Regular	150	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
565	On RHS, from K.M Stone No. 748 to K.M. Stone 780 on NH 16 (Kolkata - Chennai National Highway)	ANAKAPALLI	Regular	200	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
566	On LHS, From K.M Stone No. 748 to K.M Stone 752 on NH-16 (Kolkatta-Chennai National Highway) ON LHS FROM NH-16 JUNCTION TO MUNAGAPAKA ON ANAKAPALLI -PUDIMADAKA ROAD ON SH (NOT	ANAKAPALLI	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
567	ON NH)	ANAKAPALLI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
568	FROM ATCHUTAPURAM JUNCTION TO HARIPALEM ON SH	ANAKAPALLI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
569	FROM ATCHUTAPURAM IN TO PUDIMADAKA LHS With 3 Km from Sabbavaram Junction, Sabbavaram Mandal towards Aripaka village on SH (On	ANAKAPALLI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
570	Sabbavaram-Vekannapalem Road)	ANAKAPALLI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
571	ON RHS, With in 2 KM from NH-16 Junction towards Maruvada on Tuni-Narsipatnam Road (on SH)	ANAKAPALLI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
572	On LHS, From Sankaram Junction to Bojjannakonda Cross on Anakapalli-Sabbavaram Road on SH (Not on NH)	ANAKAPALLI	Regular	130	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
573	WITHIN ANAKAPALLI GVMC LIMITS ON ANAKAPALLI RING ROAD (NOT ON SH AND NH)	ANAKAPALLI	Regular	200	OPEN	СС	18	18	500	32	12	Bidding	30	5
574 575	On LHS, From K.M Stone No. 799 to K.M Stone 808 on NH-16 (Kolkatta-Chennai National Highway) With in 3 KM from Chodavaram Town Police Station towards Venkannapalem (on SH)	ANAKAPALLI ANAKAPALLI	Regular Regular	230 140	OPEN OPEN	DC DC	35 30	35 30	1225 900	32 32	95 75	Draw of Lots Draw of Lots	15 15	5
576	WITHIN ANAKAPALLI GVMC LIMITS, ON ANAKAPALLI- THOTADA MAIN ROAD (NOT ON SH AND NH)	ANAKAPALLI	Regular	200	OPEN	CC	18	18	500	32	12	Bidding	30	5
577	WITH IN NARSIPATNAM MUNCIPAL LIMITS LIMITS ON NARSIPATNAM-KD PETA ROAD (ON SH)	ANAKAPALLI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
578	BETWEEN MEDIVADA VILLAGE AND RAVIKAMATHAM JUNCTION ON SH (ON WADDADI-NARSIPATNAM ROAD)	ANAKAPALLI	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
579	FROM THUMMAPALA VILLAGE TO BOWLUWADA JUNCTION ON SH (ON ANAKAPALLI TO CHODAVARAM ROAD IN ANAKAPALLI MANDAL)	ANAKAPALLI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
580	ON RHS FROM LANKEPALEM JUNCTION TO PARAWADA ON SH	ANAKAPALLI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
581	From Bangarumetta Junction to Ravikamatham Junction on SH (Via Lopudi) ON LHS, FROM K.M STONE NO. 759 TO K.M STONE 772 ON NH-16 (KOLKATTA-CHENNAI NATIONAL	ANAKAPALLI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
582	HIGHWAY)	ANAKAPALLI	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
583 584	YELAMANCHILI WITHIN MUNICIPAL LIMITS (NOT ON NH/SH)	ANAKAPALLI ANAKAPALLI	Regular	140	OPEN	CC	20	20	500	32	12	Bidding	30	5
584	ON LHS LANKELAPALEM JN TO SANKARAM JN ON NH 16 ON RHS LANKELAPALEM JN TO SANKARAM JN ON NH 16	ANAKAPALLI	Regular Regular	220 220	OPEN OPEN	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
586	Sankaram Junction, Anakapalli to Pendurthi Junction on NH 16 (Kolkota - Chennai Highway)	ANAKAPALLI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
587	On LHS, From K.M Stone No. 787 to K.M Stone 794 on NH-16 (Kolkatta-Chennai National Highway)	ANAKAPALLI	Regular	220	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
588 589	On RHS, From K.M Stone No. 786 to K.M Stone 793 on NH-16 (Kolkatta-Chennai National Highway) On LHS, From K.M Stone No. 774 to K.M Stone 784 on NH-16 (Kolkatta-Chennai National Highway)	ANAKAPALLI ANAKAPALLI	Regular Regular	220 220	OPEN CC 1	DC CFS	35 35	35 35	1225 1225	32 0	95 0	Draw of Lots Draw of Lots	15 0	5
590	OUTSIDE ANAKAPALLI GVNC LIMITS, FROM ANAKAPALLI TO VETA JANGALAPALEM ON SH (ON ANAKAPALLI-KUNDRAM ROAD)	ANAKAPALLI	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
591	FROM MADUGULA JUNCTION TO THATIPARTHI ON SH (ON WADDADI-PADERU ROAD)	ANAKAPALLI	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
592	LHS FROM HARIPALEM TO MUNAGAPAKA ON SH	ANAKAPALLI	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
593	WITHIN ANAKAPALLI GVMC LIMITS, FROM NEHRU CHOWK JUNCTION TOWARDS PUDIMADAKA ROAD (NOT ON NH)	ANAKAPALLI	Regular	200	SC	CFS	18	18	500	0	0	Draw of Lots	0	3
594 595	FROM RAVULAPALEM TO GOPALAPURAM ON NH 216A RHS (TOWARDS VJAYAWADA)	DR. BR AMBEDKAR KONASEEMA DR. BR AMBEDKAR KONASEEMA	Regular Regular	220 140	OBC OBC	DC DC	35 30	35 30	1225 900	32 32	95 75	Draw of Lots Draw of Lots	15 15	4
596	From Mondepulanka to Podalada via Nagullanka on state highway (Not on NH) From T Challapalle to Nimmakayala Kothapalli on Amalapuram- S Yanam Road	DR. BR AMBEDKAR KONASEEMA	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
597	On the Road from Mandapeta Municiapality Office towards Maredubaka/Gummileru on State Highway within Mandapeta Municipal Limits	DR. BR AMBEDKAR KONASEEMA	Regular	140	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
598	From Ramachandrapuram Rajagopal Centre towards Narasapurapupeta OR Tallapolam Road on State Highway within Ramachandrapuram Municipal Limits	DR. BR AMBEDKAR KONASEEMA	Regular	140	OBC PH	DC	30	30	900	32	75	Draw of Lots	15	4
599	FROM RAVULAPALEM TO GOPALAPURAM ON NH 216A LHS (TOWARDS VJAYAWADA)	DR. BR AMBEDKAR KONASEEMA	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
600	From Uppalaguptam to China Gadavalli (On Siripalle - Munipalli Road)	DR. BR AMBEDKAR KONASEEMA	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
601 602	Merlapalem cross Roads to Ravulapalem NH216A Junction on SH Lolla Village (Rayavaram Mandal) to Someshwaram on SH (RHS)	DR. BR AMBEDKAR KONASEEMA DR. BR AMBEDKAR KONASEEMA	Regular Regular	140 140	OPEN OPEN	DC DC	30 30	30 30	900	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
603		DR. BR AMBEDKAR KONASEEMA	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	mension (ir Site (in Sq.		Finance to be arrans	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	s indicated are based on market conditions and may undergo change. Applicants are advised to make the									· · · · · · · · · · · · · · · · · · ·				
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	d have firm offer for the same.			OBC								ı	
				MS + HSD in KLs	OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	cc/dc/cfs	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
604	Z MEDAPADU BRIDGE TO TAPESWARAM ON SH	DR. BR AMBEDKAR KONASEEMA	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
605	AMALAPURAM BY PASS FROM BLACK BRIDGE TO EDARAPALLI BRIDGE WITHIN AMALAPURAM MUNICIPAL LIMITS(NOT ON NH AND NOT ON SH)	DR. BR AMBEDKAR KONASEEMA	Regular	140	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
606	From Kothapeta police Station to pallivela canal bridge on SH 18	DR. BR AMBEDKAR KONASEEMA	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
607	Chintalapalle to Tatipaka(upto NH216 Junction) on Sivakodu-Manepalle Road(Not on NH)	DR. BR AMBEDKAR KONASEEMA	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
608	ON LHS FROM RED BRIDGE (ERRA VANTHENA) TO BLACK BRIDGE (NALLA VANTHENA) VIA RDO OFFICE, WITHIN AMALAPURAM MUNICIPAL LIMITS (NOT ON NH/SH)	DR. BR AMBEDKAR KONASEEMA	Regular	140	OPEN	CC	20	20	500	32	12	Bidding	30	5
609	On Mandapeta By-pass road within Municipal Limits	DR. BR AMBEDKAR KONASEEMA	Regular	140	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
610	WITHIN 5 KM FROM AMALAPURAM BLACK BRIDGE TOWARDS AINAVILLI ON STATE HIGHWAY (MUKTHESWARAM ROAD)	DR. BR AMBEDKAR KONASEEMA	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
611	Vanapalli Village,Kothapeta Mandal to velavalapalli village on SH	DR. BR AMBEDKAR KONASEEMA	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
612 613	ANATHAVARAM TO BODASAKURRU BRIDGE VIA AMALAPURAM NEW BYPASS(ON NH216)	DR. BR AMBEDKAR KONASEEMA	Regular	220 140	SC OBC	CFS	35	35	1225	0 32	0	Draw of Lots	0 15	3 4
614	From Lalacheruvu NH 216 Junction to Andhra Paper Mill Road Through Qurarry Marker Junction MORTHA VILLAGE (ON SH)	EAST GODAVARI EAST GODAVARI	Regular Regular	140	OBC	DC DC	20 30	20 30	500 900	32	55 75	Draw of Lots Draw of Lots	15	4
615	PERAVALI VILLAGE ON CANAL ROAD SH	EAST GODAVARI	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
616	Godavari Maha Pushkaravanam on NH 216A to SH 12 at Konthamuru Through Autonagar Main Road.	EAST GODAVARI	Regular	140	OBC	CC	20	20	500	32	12	Bidding	30	4
617	Gowripatnam Cross Road to Kovvuru Toll Plaza on NH16 (LHS towards Rajahmundry) FROM AUTONAGAR Cross Road TO Thorredu Cross Road on ON NH16 LHS(TOWARDS GODAVARI	EAST GODAVARI EAST GODAVARI	Regular Regular	220	OBC OBC	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	4
619	FOURTH BRIDGE) From Bommuru Cross Road to Vemagiri Cross Road on NH 216A	EAST GODAVARI	Regular	220	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
620		EAST GODAVARI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
621	With in 11 kms from Yernagudem bus shelter at Yernagudem to Thatipudi lift canal at Bandapuram ON NH16	EAST GODAVARI	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
622	SRI BALAJI TEMPLE AT JAGANNADHAPURAM TO GOPALPURAM YSR JUNCTION ON NH 516D	EAST GODAVARI	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
623	GAJJARAM TO ANNADEVARAPETA ON SH ,EAST GODAVARI DIST. From Somalamma Temple on Somalampuntha Road to NH 216A Junction Through AVA Road	EAST GODAVARI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
624 625	,Rajahmundry Town KOVVURU Court complex TO VIJJESWARAM on SH	EAST GODAVARI EAST GODAVARI	Regular Regular	140	OPEN OPEN	CC	20 30	20 30	500 900	32 32	12 75	Bidding Draw of Lots	30 15	5
626	Anaparthi village to SH 202 on SH 17	EAST GODAVARI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
627	AVA Road - J N road Junction to NH 216A on J N ROAD , RAJAHMUNDRY	EAST GODAVARI	Regular	140	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
628	GOKAVARAM VILLAGE TO KOTHAPALLE VILLAGE ON SH	EAST GODAVARI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
629 630	Rajanagaram ADB Road - NH 16 Junction to NH 216 - NH 16 Junction in Diwancheruvu on NH 16 Kovvuru Toll Plaza to Gowripatnam Cross Road on NH 16 (LHS towards Devarapalli)	EAST GODAVARI EAST GODAVARI	Regular Regular	220 220	OPEN OPEN	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
631	FROM RANGAMPETA TOWARDS PRAGATHI ENGINEERING COLLEGE ON ADB ROAD (WITHIN EAST	EAST GODAVARI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
632	GODAVARI DISTRICT) FROM KOLAMURU NH 16 Cross road to Gadala on NH 516 (LHS)	EAST GODAVARI	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
633	Tellikacherla to Chodavaram on SH, East Godavari dist.	EAST GODAVARI	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
634	DOWLESWARAM Village to NH 216A Junction on SH	EAST GODAVARI	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
635 636	Kadiyam Canal Road to Veeravaram on SH BOMMURU NH 216A X Road TO RAJAVOLU ON SH	EAST GODAVARI EAST GODAVARI	Regular Regular	140 140	SC SC	CFS CFS	30 30	30 30	900 900	0	0	Draw of Lots Draw of Lots	0	3
637	Morampudi Junction(Rajahmundry) to Satilite city on SH	EAST GODAVARI EAST GODAVARI	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
638	Narendrapuram village to Burugupudi NH 516 Junction on SH	EAST GODAVARI	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
639	APSRTC Bustand Kovvuru to Sri Chaitanya Junior College in Bridgepet Road Through Road in HDFC Bank Kovvuru.	EAST GODAVARI	Regular	140	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
640	Navabharath Nagar Junction to SH 187 Through East Railway station Road, Rajahmundry town	EAST GODAVARI	Regular	150	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
641 642	With in 2 Kms from Rajahmundry Railway station to Dawaleshwaram on SH	EAST GODAVARI	Regular	140 140	SC SC	CFS CFS	30 30	30 30	900	0	0	Draw of Lots Draw of Lots	0	3
642	NALLAJERLA ON SH Within 6 KMs from Ponguturu on SH towards Yernagudem	EAST GODAVARI EAST GODAVARI	Regular Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots Draw of Lots	0	3
644	prathipadu NH 16 Junction to Simhadripuram Cross on SH	KAKINADA	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
645	On Main Road within Gollaprolu Municipal Limits (Not on NH)	KAKINADA	Regular	140	OBC	DC	20	20	500	32	55	Draw of Lots	15	4
646	From Samalkot Railway Station towards Biccavolu/ Peddapuram on State Highway within Samalkot Municipal Limits (Not on ADB Road)	KAKINADA	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
647	PEDDADA TO PEDAPUDI ON KAKINADA-G.MAMIDADA ROAD	KAKINADA	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4

	Corporation Limited (IOCL) proposes to appoint Retail Outlet dealers in ANDHRA PRADESH State as per									T				
SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	mension (ii e Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to make the		•				•			•			•	
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	ld have firm offer for the same.			1 1					1				
648	From Uppada to Mulapeta on Beach Road	KAKINADA	Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH OBC	CC/DC/CFS	Frontage	Depth 30	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding Draw of Lots / Bidding	15	4
649	Karnamgari junction to Gaigolupadu Junction, Kakinada (Within Municipal Limits)	KAKINADA	Regular	140	OBC	CC	20	20	500	32	12	Bidding	30	4
650	From Karapa-Pepakayalapalem Junction to Vemulavada on Kakinada Ramachandrapuram Road	KAKINADA	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
651	FROM PEDDAPURAM TO SURAMPALEM ON ADB ROAD ON EITHER SIDE	KAKINADA	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
652	From Gollaprolu to Rajupalem via Raparthi on Gollprolu - Rajupalem State Highway	KAKINADA	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
653	From Pulimeru to G. Ragampeta on Samarlakota - Prathipadu State Highway	KAKINADA	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
654 655	On Tuni-Pentakota Road within Tuni Municipal Limits	KAKINADA	Regular	140 220	OBC CC 1	DC DC	20 35	20 35	500 1225	32 32	55 95	Draw of Lots Draw of Lots	15 15	4
	Kathipudi to Bendapudi on LHS on NH16	KAKINADA	Regular											
656	From Peddapuram Town Dargah Centre to Maharani College on State Highway within Peddapuram Municipal Limits	KAKINADA	Regular	140	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
657	From Samalkot Post Office to Peddapuram Old RTC Complex on Samalkot - Peddapuram Road on RHS	KAKINADA	Regular	140	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
658	From Divili to Rajupalem on Samarlakota - Prathipadu State Highway	KAKINADA	Regular	140	OBC PH	DC	30	30	900	32	75	Draw of Lots	15	4
659 660	From Chinnamamba Park to NH-216 Y-Junction via RTC Complex within Pithapuram Municipal Limits (Not on State Highway)	KAKINADA	Regular	140 220	OPEN OPEN	DC	20	20 35	500 1225	32 32	55 95	Draw of Lots	15 15	5
661	Pithapuram(From Sri Kukkuteswara swamy temple) to NH216-Thimmapuram Y Junction on NH216	KAKINADA	Regular	220	OPEN	DC	35	35	1225	32	95 95	Draw of Lots Draw of Lots	15	5
662	From Achampeta Junction to NH216-Thimmapuram Y Junction on NH 216 From Prathipadu to Mallepalli on LHS on NH16	KAKINADA	Regular Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
663	On SH Within 7 Km from Sarpavaram Junction towards Rameswaram Via Madhavapatnam on KANF	KAKINADA	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
664	From Chollangi to Koringa on NH 216 on LHS	KAKINADA	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
665	WITHIN 3 KM FROM JAGGAMPETA VILLAGE ON STATE HIGHWAY	KAKINADA	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
666	ON PITHAPURAM - UPPADA STATE HIGHWAY WITHIN PITHAPURAM MUNICIPAL LIMITS	KAKINADA	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
667	From Gollaprolu to Pithapuram on NH216 on RHS	KAKINADA	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
668	From Dharmavaram to Kathipudi on LHS on NH16	KAKINADA	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
669	Tetagunta to Tuni on LHS on NH16	KAKINADA	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
670 671	From Bhanugudi fly over to Sarpavaram junction, within Kakinada Municipal Limits(Not on NH/SH)	KAKINADA	Regular	140 140	OPEN	CC CFS	20 30	20 30	500 900	32 0	12 0	Bidding	30	5
672	BETWEEN J. KOTHURU TO RAJAPUDI ON JAGGAMPETA - GOKAVARAM ROAD Sarpavaram Junction to Achampeta Junction on NH	KAKINADA KAKINADA	Regular Regular	220	SC SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
673	From Dharmavaram to Kathipudi on RHS on NH16	KAKINADA	Regular	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
674	From Gollaprolu to Pithapuram on NH216 on LHS	KAKINADA	Regular	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
675	Within 2 kms from Jiyyammavalasa either side on SH	PARVATHIPURAM MANYAM	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
676	Ravivalasa Bus stop to Naguru Bus Stop on SH	PARVATHIPURAM MANYAM	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
677	KIMMI TO CHITTIPUDIVALASA (IN VEERAGHATTAM MANDAL) ON SH	PARVATHIPURAM MANYAM	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
678 679	SALUR TO APTWR JUNIOR COLLEGE (BOYS), P. KONAVALASA ON NH 26	PARVATHIPURAM MANYAM	Regular	220 220	SC SC	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots	0	3
680	Salur Town Bypass Road chinnadimili Village to Pedadimili Village, Bhamini Mandal, on SH	PARVATHIPURAM MANYAM PARVATHIPURAM MANYAM	Regular Regular	140	SC	CFS	35	35	900	0	0	Draw of Lots Draw of Lots	0	3
681	within 2.5 km from Bose Bomma Junction (Salur) towards pachipenta on SH	PARVATHIPURAM MANYAM	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
682	Komarthi village, Narasannapeta Mandal to Komanapalli, Hiramandalam Mandal on SH	SRIKAKULAM	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
683	Nadimivalasa Village ,G.Sigadam Mandal (towards Penasam Road) on SH	SRIKAKULAM	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
684	vakalavalasa to Amadalavalasa on SH 1	SRIKAKULAM	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
685	WITHIN PONDURU VILLAGE LIMITS, PONDURU MANDAL ON SH 129	SRIKAKULAM	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
686	Chintada to Byri on SH	SRIKAKULAM	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
687 688	KHASPANAUPADA TO ANANTHAGIRI ON SH Pydibhimavaram to Varisam on LHS NH 16	SRIKAKULAM SRIKAKULAM	Regular Regular	140 200	OBC OPEN	DC DC	30 35	30 35	900 1225	32 32	75 95	Draw of Lots Draw of Lots	15 15	5
689	Pydionimavaram to varisam on LHS NH 16 within 2 km from NH-16 and Subhadrapuram Junction, Subhadrapuram Village, Laveru Mandal on SH towards Laveru	SRIKAKULAM	Regular	140	OPEN	DC	30	30	900	32	95 75	Draw of Lots	15	5
690	Kammasigadam Village to Ranastalam (in Ranastalam Mandal) on SH	SRIKAKULAM	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
691	From TSR Junior and Degree College , Amadalavalasa to Kollivalasa on SH	SRIKAKULAM	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
692	Seven Road Jn, Srikakulam to Arasavalli on SH	SRIKAKULAM	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
693	Mandasa to Kothapalle on SH	SRIKAKULAM	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
694	Santhaseetharamapuram to Etcherla on SH	SRIKAKULAM	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
695 696	Tekkali to Meliaputti on SH APSRTC Bus Stand Srikakulam to Ragolu on SH	SRIKAKULAM SRIKAKULAM	Regular Regular	140 140	OPEN OPEN	DC DC	30 30	30 30	900 900	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
050	In our pay yeard privakularii to nagolu oli on	DIMARULAIVI	negulai	140	OFFIN	DC .	30	30	500	34	,,,	DIGW UI LUIS	13	٠,

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir of the	mension (ii Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to make the													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shoul	ld have firm offer for the same.		1	OBC	-				1			1	1
				MS + HSD in KLs	OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
697	Palasa to Haripuram on RHS NH-16	SRIKAKULAM	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
698	Amadalavalasa Main Road (From Amadalavalasa Bridge Bus stop to LIC of India Satellite office)Amadalavalasa Muncipality Not on SH	SRIKAKULAM	Regular	140	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
699	Amadalavalasa to Sarubujili on SH 2	SRIKAKULAM	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
700	SRIKAKULAM TO NARASANNAPETA RHS ON NH -16	SRIKAKULAM	Regular	220	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
701	Old NH-5 Road, PALASA (From Bendi gate Junction to Sasanam) not on SH/NH	SRIKAKULAM	Regular	140	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
702	Srikakulam Town(from Ramlaksmana Junction to Mill Junction via Government Women's college)	SRIKAKULAM	Regular	140	OPEN	CC	20	20	500	32	12	Bidding	30	5
703	Srikakulam Town(from Ramlaksmana Junction to Simhadwaram Arch) Not on NH/SH	SRIKAKULAM	Regular	140	OPEN	CC	20	20	500	32 32	12	Bidding	30 15	5
704 705	LINGALAVALASA TO SAVARABONTHU ON NH326 A Chilakapalem Junction to Navabharath Junction, Srikakulam on NH-16 (Byepass)	SRIKAKULAM SRIKAKULAM	Regular Regular	220 220	OPEN OPEN	DC DC	35 35	35 35	1225 1225	32	95 95	Draw of Lots Draw of Lots	15	5
706	Srikakulam Town (From Rythu Bazar Junction to Balaga Junction) Not on NH / SH	SRIKAKULAM	Regular	140	OPEN	CC	20	20	500	32	12	Bidding	30	5
707	PYDIBHIMAVARAM TO RANASTHALAM ON RHS	SRIKAKULAM	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
708	Chilakapalem Junction to Ranasthalam on RHS NH 16	SRIKAKULAM	Regular	220	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
709	palasa to Jadupudi on NH-16 LHS side	SRIKAKULAM	Regular	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
710	Voppangi to Gara on SH	SRIKAKULAM	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
711 712	Srikakulam Town(from Ramlakshmana Junction to Peddapadu Jn) PATHARLAPALLE, RANASTHALAM MANDAL TO AJJARAM, ETCHERLA MANDAL ON SH 160	SRIKAKULAM SRIKAKUI AM	Regular Regular	140 140	SC ST	CFS CFS	20 30	20 30	500 900	0	0	Draw of Lots Draw of Lots	0	3
713	Pedalamba, Saravakota Mandal to Lingupuram, Hiramandalam Mandal on SH 101	SRIKAKULAM	Regular	120	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
714	GANGAVARAM PORT ROAD Y JN TO JAJULAVANIPALEM ON SH WITHIN GVMC LIMITS	VISAKHAPATNAM	Regular	200	OBC	CC	18	20	500	32	12	Bidding	30	4
715	FROM VEMANA MANDIRAM TO YASIN MASJID JN VIA SAMPATH VINAYAKA TEMPLE ROAD/ VIP ROAD	VISAKHAPATNAM	Regular	200	OBC	CC	18	18	500	32	12	Bidding	30	4
716	LHS Gajuwaka Market to Gangavaram Port road Y Jn Via Chinagantyada (on SH)	VISAKHAPATNAM	Regular	200	OBC	CC	18	18	500	32	12	Bidding	30	4
717 718	LHS Gajuwaka Martket to STEEL PLANT (BALACHERUVU) BC GATE on BC road	VISAKHAPATNAM	Regular	200 200	OBC OBC	CC	18 20	20	500 500	32 32	12 12	Bidding Bidding	30 30	4
718	LHS from Old Gajuwaka Jn to Kurmanapalem Jn on NH 16 Duvvada Railway station to Kurmanapalem Jn on Duvvada Station Road (VEPZ Road)	VISAKHAPATNAM VISAKHAPATNAM	Regular Regular	200	OBC	CC	18	18	500	32	12	Bidding	30	4
720	From Sheela Nagar Jn to Convent Jn on Port Road	VISAKHAPATNAM	Regular	200	OBC CC 1	CC	20	20	500	32	12	Bidding	30	4
721	Gajuwaka MRO Office to Jaggu Junction on 100 feet road	VISAKHAPATNAM	Regular	200	OPEN	CC	18	18	500	32	12	Bidding	30	5
722	Between ZOO Park Gate to Radisson Blu resort on Bheemili Visakhapatnam Beach Road	VISAKHAPATNAM	Regular	200	OPEN	CC	20	20	500	32	12	Bidding	30	5
723	Sheelanagar to Peda Narava on NH (Via Sathivanipalem)	VISAKHAPATNAM	Regular	200	OPEN	CC	18	18	500	32	12	Bidding	30	5
724 725	DUVVADA (ON RAJIVNAGAR-AGANAMPUDI ROAD)	VISAKHAPATNAM VISAKHAPATNAM	Regular	200	OPEN	CC	18	18	500	32	12	Bidding	30	5
	ADAVIVARAM JUNCTION TO GANDIGUNDEM NH X JUNCTION (NOT ON NH) PEDANARAVA JUNCTION TOWARDS SABBAVARAM WITHIN GVMC LIMITS (VIA BEHARA SUBHAKAR		Regular	200	OPEN	CC	20	20	500	32	12	Bidding	30	5
726	POLYTECHNIC) ON MAIN ROAD	VISAKHAPATNAM	Regular	200	OPEN	CC	18	18	500	32	12	Bidding	30	5
727	ON LHS, WITHIN 3 KM FROM PENDURTHI JUNCTION TOWARDS ARAKU ON SH	VISAKHAPATNAM	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
728	Alluri Seetharamraju Statue Jn (Seethamdara) to Venkojipalem Jn (On HB Colony Road)	VISAKHAPATNAM	Regular	200	OPEN	CC	18	18	500	32	12	Bidding	30	5
729 730	VEPAGUNTA X JUNCTION TO PENDURTHI X JUNCTION ON NAD-PENDURTHI MAIN ROAD RHS FROM HANUMANTHAVAKA JUNCTION TO ADIVIVARAM JUNCTION ON MUDASARLOVA BRTS ROAD	VISAKHAPATNAM VISAKHAPATNAM	Regular Regular	200	OPEN OPEN	сс	18	20 18	500	32 32	12	Bidding Bidding	30 30	5
731	ON 100 FEET ROAD FROM SHILPARAMAM JUNCTION TO MADHURUWADA IT CITY PARK WITHIN VISAKHAPATNAM MUNICPAL LIMITS (NOT ON NH)	VISAKHAPATNAM	Regular	200	OPEN	CC	18	18	500	32	12	Bidding	30	5
732	SHEELANAGAR JUNCTION TO KIMS ICON HOSPITAL WITHIN VIZAG MUNICIPAL LIMITS (NOT ON NH)	VISAKHAPATNAM	Regular	200	OPEN	CC	18	18	500	32	12	Bidding	30	5
733	GOPALAPATNAM TO PEDANARAVA WITHIN VIZAG MUNICIPAL LIMITS (ON NARAVA MAIN ROAD)	VISAKHAPATNAM	Regular	200	OPEN	CC	18	18	500	32	12	Bidding	30	5
734	LANSUM SQUARE (MVP COLONY - NH 16 JUNCTION) TO APPUGHAR JN ON MVP DOUBLE ROAD	VISAKHAPATNAM	Regular	200	OPEN	CC	18	18	500	32	12	Bidding	30	5
735	BHEEMILI TO THAGARAPUVALASA ON SH	VISAKHAPATNAM	Regular	200	OPEN	CC	20	20	500	32	12	Bidding	30	5
736 737	Auto Nagar Jn (APIIC ADMINISTRATIVE BUILDING) to Vadlapudi Bus stop via Gollapallu Cheruvu	VISAKHAPATNAM VISAKHAPATNAM	Regular	200	OPEN OPEN	CC	18 18	18 18	500 500	32 32	12 12	Bidding Bidding	30 30	5
737	VEPAGUNTA X JUNCTION TO GOSALA Y JN ON BRTS MAIN ROAD (SIVALAYAM ROAD) GOPALAPATNAM Y JUNCTION TO VEPAGUNTA X JUNCTION ON NAD-PENDURTHI MAIN ROAD	VISAKHAPATNAM	Regular Regular	200	OPEN	CC	18	18	500	32	12	Bidding	30	5
739	ASILMETTA JN TO MADDILAPALEM JUNCTION ON RAMATALKIES ROAD	VISAKHAPATNAM	Regular	200	OPEN	CC	18	18	500	32	12	Bidding	30	5
740	Sheela Nagar to Gajuwaka junction on NH 16	VISAKHAPATNAM	Regular	200	OPEN CC 1	CC	20	20	500	32	12	Bidding	30	5
/40		VISAKHAPATNAM		220	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
740	RHS VEMULAVALASA TO MADURUWADA ON NH 16 (VIA PARADESIPALEM)	VISAKRAPATNAIVI	Regular	220	OFLIVECT	ьс	33	33	1223			DIGW OF LOSS	17	
	RHS YEMULAVALASA TO MADURUWADA ON NH 16 (VIA PARADESIPALEM) ON LHS, FROM THAGARAPUVALASA TO ANANDAPURAM JUNCTION ON NH-16 (KOLKATTA-CHENNAI NATIONAL HIGHWAY) ON RHS, WITHIN 3 KM FROM PENDURTHI JUNCTION TOWARDS ARAKU ON SH	VISAKHAPATNAM VISAKHAPATNAM	Regular Regular	220	OPEN CC 1	DC CFS	35 30	35 30	1225	32	95	Draw of Lots Draw of Lots	15	5

Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	mension (ir e Site (in Sq.		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	s indicated are based on market conditions and may undergo change. Applicants are advised to make the			•						•				
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	ld have firm offer for the same.	ı	1									I	
				MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
745	LHS FROM HANUMANTHAVAKA JUNCTION TO ADIVIVARAM JUNCTION ON MUDASARLOVA BRTS ROAD	VISAKHAPATNAM	Regular	200	SC	CFS	18	18	500	0	0	Draw of Lots	0	3
746	RHS FROM HINDUSTAN SHIPYARD LIMITED, MALKAPURAM TO GAJUWAKA NH JN ON GNT ROAD (NOT ON NH)	VISAKHAPATNAM	Regular	200	sc	CFS	18	18	500	0	0	Draw of Lots	0	3
747	HANUMANTHAVAKA JN TO JODUGULLAPALEM ON POLICE QUARTERS ROAD	VISAKHAPATNAM	Regular	200	SC	CFS	18	18	500	0	0	Draw of Lots	0	3
748	DAIRY FARM JUNCTION ON NH TO THOTA GARUVU JUCTION WTIHIN GVMC LIMITS, VISAKHAPATNAM	VISAKHAPATNAM	Regular	200	ST	CFS	18	18	500	0	0	Draw of Lots	0	3
749	GOSALA Y JUNCTION TO GOPALAPATNAM Y JUNCTION ON SIMHACHALAM MAIN ROAD VIA SIMHACHALAM BUS DEPOT	VISAKHAPATNAM	Regular	200	ST	CFS	18	18	500	0	0	Draw of Lots	0	3
750	SARDAR VALLABHAI PATEL STATUE TO THE PARK HOTEL IN ON CHINNAWALTAIR MAIN ROAD WITH IN VISAKHAPATNAM MUNICIPAL LIMITS	VISAKHAPATNAM	Regular	200	ST	CFS	18	18	500	0	0	Draw of Lots	0	3
751	BHEEMILI NH CROSS ROADS TO BHIMILI ON BHIMILI-NARSIPATNAM ROAD (NOT ON NH) VIA GOLLALAPALEM	VISAKHAPATNAM	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
752	LHS FROM HINDUSTAN SHIPYARD LIMITED, MALKAPURAM TO GAJUWAKA NH JN ON GNT ROAD (NOT ON NH)	VISAKHAPATNAM	Regular	200	ST	CFS	18	18	500	0	0	Draw of Lots	0	3
753	D TALLAVALASA TO MODAVALASA (IN DENKADA MANDAL ON NH) on LHS	Vizianagaram	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
754 755	Within 4 Kms From Kothavalasa Railway station towards Pendurthi on NH 516B	VIZIANAGARAM VIZIANAGARAM	Regular	220	OBC	DC DC	35	35 30	1225	32 32	95	Draw of Lots	15 15	4
756	WITHIN 1 KM FROM THATIGUDA VILLAGE, GARIVIDI MANDAL ON SH CHINNA SIRLAM TO SANKILI (REGIDI AMADALAVALASA MANDAL) ON SH	VIZIANAGARAM	Regular Regular	140 140	OBC OBC	DC	30 30	30	900	32	75 75	Draw of Lots Draw of Lots	15	4
757	WITHIN 2 KMS FROM MRO OFFICE DATTIRAJERU TOWARDS GARBHAM ON SH	VIZIANAGARAM	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
758	RAZAM TO NANDABALAGA VILLAGE (IN RAZAM MANDAL) ON SH	VIZIANAGARAM	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
759	RAZAM TO BODDAM (IN RAZAM MANDAL) ON SH	VIZIANAGARAM	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
760	Within 6 Kms From Kothavalasa Railway station towards Lakkavarapu kota on NH 516B	VIZIANAGARAM	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
761 762	On RHS on Vizianagaram Bypass road From Chelluru to Gotlam on NH26	VIZIANAGARAM VIZIANAGARAM	Regular	220 220	OPEN OPEN	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
763	On RHS Modavalasa to Chakivalasa on NH 16 Vizianagaram bypass junction (near Gotlam) to Bondapalli Police Station on LHS on NH26	VIZIANAGARAM	Regular Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
764	Vizianagaram bypass junction (near Gotlam) to Bondapalli Police Station on RHS on NH26	VIZIANAGARAM	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
765	Boddam to Lakkavarapukota on NH 516B	VIZIANAGARAM	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
766	WITHIN 2 KMS FROM APSRTC BUS STAND, RAMABHADRAPURAM TOWARDS BOBBILI ON SH	VIZIANAGARAM	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
767	G.CHODAVARAM TO KANIMETTA RHS ON NH 16	VIZIANAGARAM	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
768 769	Vizianagaram collectorate Junction to Vizianagaram Bypass Junction (near Gotlam) on NH 26	VIZIANAGARAM VIZIANAGARAM	Regular	220 220	OPEN CC 1	DC DC	35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
770	VT Agraharam to Jonnada on NH 26 BHOGAPURAM TO PUSAPATIREGA LHS ON NH 16	VIZIANAGARAM	Regular Regular	230	OPEN CC 1	DC	35 35	35	1225	32	95	Draw of Lots	15	5
771	Vizianagaram collectorate junction to Narava on NH 516E	VIZIANAGARAM	Regular	220	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
772	RAMABHADRAPURAM TO ARIKATHOTA ON NH26	VIZIANAGARAM	Regular	220	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
773	ICE Factory Junction Vizianagaram Town to Akkivaram Junction, Denkada Mandal on SH	VIZIANAGARAM	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
774	Phoolbhagh (Viziangaram Town) to Gurla Substation on SH	VIZIANAGARAM	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
775 776	Gajapathinagaram to Manapuram Railway Gate on NH 26 Pedathadivada to Denkaada (In Denkada Mandal)	VIZIANAGARAM VIZIANAGARAM	Regular Regular	220 140	SC SC	CFS CFS	35 30	35 30	1225 900	0	0	Draw of Lots Draw of Lots	0	3
777	Kantakapalle to Kothavalasa on SH	VIZIANAGARAM	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
778	Ice Factory Junction to Fort Junction, Vizianagaram Town (Not on SH)	VIZIANAGARAM	Regular	140	SC	CFS	20	20	500	0	0	Draw of Lots	0	3
779	LHS On Vizianagaram Bypass road from Chelluru to Gotlam on NH26	VIZIANAGARAM	Regular	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
780	MAYURI JUNCTION TO ICE FACTORY JUNCTION (NOT TOWARDS 100 FEET RING ROAD) IN VIZIANAGARAM TOWN ON SH	VIZIANAGARAM	Regular	140	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
781 782	On LHS Modavalasa to Chakivalasa on NH 16	VIZIANAGARAM VIZIANAGARAM	Regular	220 220	SC CC 1 SC CC 1	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
782	Cherakupalle to Rajapulova on NH 16/26 BHOGAPURAM TO PUSAPATIREGA RHS ON NH 16	VIZIANAGARAM	Regular Regular	220	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots Draw of Lots	0	3
784	G. CHODAVARAM TO CHINTAPALLE ON SH (IN POOSAPATIREGA MANDAL)	VIZIANAGARAM	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
785	Within 3 Kms from APSRTC Bus Stand, Bobbili on SH (towards Parvathipuram)	VIZIANAGARAM	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
786	Bobbili to Karada on SH	VIZIANAGARAM	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
787	Ice Factory Junction to APEPDCL Office, Dasannapeta via 100 Feet Ring Road on SH in Vizianagaram Town	VIZIANAGARAM	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
788	Vizianagaram Town (Dharmapuri to Pradeep Nagar Jn)	VIZIANAGARAM	Regular	140	ST CC 1	CFS	20	20	500	0	0	Draw of Lots	0	3

	Corporation Limited (IOCL) proposes to appoint Retail Outlet dealers in ANDHRA PRADESH State as per		T	Estimated	C-1	T of Cit of	Minimum Di	mension (ii	n M.) / Area	Einance to be arran	and by the applicant	Manda of calculation	Fixed Fee / Min bid	Security
SI. No.	Name Of Location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	of the	e Site (in Sq	.M.)*	Finance to be arran	ged by the applicant	Mode of selection	amount (Rs. in Lakhs)	Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	s indicated are based on market conditions and may undergo change. Applicants are advised to make the						•			•			•	
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	ld have firm offer for the same.	1				1			I			1	_
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST TC C 1 ST PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
789				140	ST PH	055	20	20	000			2 (1)		
789	Garividi to Cheepurupalli Railway Station on SH WITHIN 3.5 KM FROM MUNICIPAL OFFICE BOBBILI TOWARDS BALAJIPETA ON SH	VIZIANAGARAM VIZIANAGARAM	Regular Regular	140	ST PH ST PH	CFS CFS	30 30	30 30	900	0	0	Draw of Lots Draw of Lots	0	3
790	MOGALTURRU on NH216 (NARSAPURAM TO MOGALTHUR ON RHS)	WEST GODAVARI	Regular	220	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
792	CHINCHINADA TO PALAKOL-DIGAMARRU BYPASS JUNCTION ON NH216 LHS	WEST GODAVARI	Regular	220	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
793	WITHIN 3 KM FROM HANUMAN TEMPLE KANTHERU VILLAGE ON SH	WEST GODAVARI	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
794	VEERABADHRAPURAM ON SH	WEST GODAVARI	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
795	FROM VEERAVASARAM JUNCTION TO PANJA VEMAVARAM ON SH	WEST GODAVARI	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
796 797	TANUKU TOWN TO DUVVA VILLAGE ON NH LHS NARSAPURAM TO SFETHARAMPURAM on NH	WEST GODAVARI	Regular Regular	220 220	OBC OBC	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	4
797	MAVULLAMMA THALLI TEMPLE JUNCTION IN BHIMAVARAM TO TADERU SUBSTATION ON SH	WEST GODAVARI WEST GODAVARI	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
799	BHIMAVARAM TOWN (PEDAMIRAM -UNDI ROAD)	WEST GODAVARI	Regular	140	OBC	CC	20	20	500	32	12	Bidding	30	4
800	FROM NAVARASAPURAM TO YENUGUVANI LANKA (ON SH)	WEST GODAVARI	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
801	BHIMAVARAM-PALAKOLLU BYPASS ON NH 165	WEST GODAVARI	Regular	220	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
802	TANUKU TOWN (WITH IN MUNCIPALITY ON RASHTRAPATHI ROAD)	WEST GODAVARI	Regular	140	OBC	DC	20	20	500	32	55	Draw of Lots	15	4
803	FROM ALAMURU TO MARTERU VILLAGE ON SH	WEST GODAVARI	Regular	140	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
804	JUVVALAPALEM ON SH	WEST GODAVARI	Regular	140	OBC	DC	30	30	900	32 32	75	Draw of Lots	15 15	4
805 806	Rapakakhandrika to Cherukuwada on SH CHINCHINADA TO PALAKOL-DIGAMARRU BYPASS JUNCTION ON NH216 RHS	WEST GODAVARI WEST GODAVARI	Regular Regular	140 220	OBC OBC	DC DC	30 35	30 35	900 1225	32	75 95	Draw of Lots Draw of Lots	15	4
807	SUB REGISTRAR OFFICE UNDI TO F.C.I AKIVEEDU ON NH 165 ,west Godavari dist.	WEST GODAVARI	Regular	220	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
808	Kunchanapalle to Thadepalli on NH 216A , west Godavari dist.	WEST GODAVARI	Regular	220	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
809	TADEPALLIGUDEM JUNCTION(POLICE ISLAND) IN TADEPALLIGUDEM TOWN TO MUTHYALAMMA TALLI TEMPLE (ELURU ROAD)-NOT ON NH	WEST GODAVARI	Regular	140	ОВС	DC	20	20	500	32	55	Draw of Lots	15	4
810	Gollalakoderu to Yendagandi on SH	WEST GODAVARI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
811	Tadepalligudem Bypass road (Necklace Road) connecting Eluru road and SH 24 at SV Rangarao statue	WEST GODAVARI	Regular	140	OPEN	DC	20	20	500	32	55	Draw of Lots	15	5
812 813	Bhimavaram bypass road connecting Undi road and SH 254 at BV Raju statue.	WEST GODAVARI	Regular	140 140	OPEN OPEN	CC DC	20 30	20 30	500 900	32 32	12 75	Bidding Draw of Lots	30 15	5
	Mudunuru to Pentapadu ON SH, west Godavari dist. TADEPALLIGUDEM MUNICIPAL OFFICE TO TRINITY MULTISPECIALITY HOSPITAL ON SH,	WEST GODAVARI	Regular											
814	TADEPALLIGUDEM	WEST GODAVARI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
815	FROM SBI Ganapavaram to Village Panchayati Office Aaredu on SH, west Godavari dist.	WEST GODAVARI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
816	DIRUSUMARRU TO KALIPATNAM ON SH (NOT ON NH)	WEST GODAVARI	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
817 818	JINNURU TO MARTERU on SH KUMUDAVALLI TO PALAKODERU ON SH	WEST GODAVARI WEST GODAVARI	Regular Regular	140 140	SC SC	CFS CFS	30 30	30 30	900	0	0	Draw of Lots Draw of Lots	0	3
819	FROM MEDAPADU JUNCTION TO ILAKAPARRU ON SH	WEST GODAVARI	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
820	VEERAVASARAM TO VISSAKODERU ON NH	WEST GODAVARI	Regular	220	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
821	Kalluru Village , Garladinne Mandal, Not On NH/SH	ANANTHAPURAMU	Rural	50	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
822	Goridindla Village, Atmakur Mandal Not On NH/SH	ANANTHAPURAMU	Rural	50	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
823 824	Gudipadu Village, Yadiki Mandal not on NH/SH	ANANTHAPURAMU ANANTHAPURAMU	Rural Rural	60 70	OBC OBC	DC DC	20	20	400 400	16 16	35 35	Draw of Lots Draw of Lots	5	3
824	ChennamPalli Village, Bukkarayasamudram Mandal not on NH/SH N.Gundlapalli village , Beluguppa Mandal,Not On NH/SH	ANANTHAPURAMU	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots Draw of Lots	5	3
826	Garladinne Village and Mandal, Not On NH/SH	ANANTHAPURAMU	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
827	Chennarayunipalle Village, Bukkarayasamudram Mandal not on NH/SH	ANANTHAPURAMU	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
828	Kandukur Village , Ananthapur Mandal Not On NH/SH	ANANTHAPURAMU	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
829	Marutla Village , Kudair Mandal Not On NH/SH	ANANTHAPURAMU	Rural	60	SC SC	CFS	20	20	400	0	0	Draw of Lots	0	2
830 831	Uruchintala Village, tadipatri Mandal not on NH/SH POOLAKUNTA VILLAGE , ANANTHAPUR MANDAL NOT ON NH/SH	ANANTHAPURAMU ANANTHAPURAMU	Rural Rural	60 60	ST CC 1	CFS CFS	20	20	400 400	0	0	Draw of Lots Draw of Lots	0	2
832	Yerraguntlakota Village on Anantarajupeta-Y Kota road, Obulavaripalle Mandal Not On NH/SH	ANNAMAYYA	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
833	From Nagireddypalle Village to Nandalur on Nandalur - Thogurpet road, Nandalur Mandal(Not on NH/SH)	ANNAMAYYA	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
834	Kurabalakota Village on Kurabalakota road, Kurabalakota Mandal Not On NH/SH	ANNAMAYYA	Rural	50	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
835	Angallu-CTM Road (Within 4 Km From Angallu), Angallu Mandal	ANNAMAYYA	Rural	50	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
836	On Aragonda Bangarupalyam road, Not in Aragonda Village limits(Not on NH/SH)	CHITTOOR	Rural	50	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
837	Mulugundam Village on Karivemula-Arekal Road(Not on NH/SH)	KURNOOL KURNOOL	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
838	Within 1 KM from Veldurthi Bus Stand, Veldurthi Mandal (Not On NH/SH)	KUKNUUL	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	1 3

mulan on	Corporation Limited (IOCL) proposes to appoint Retail Outlet dealers in ANDHRA PRADESH State as per	Tollowing details .												
SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	imension (ii e Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	s indicated are based on market conditions and may undergo change. Applicants are advised to make the			•			•						•	
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	ld have firm offer for the same.					1							
839	Duddebanda Village, Penukonda Mandal , Not on NH/SH	SRI SATHYA SAI	Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH OBC	CC/DC/CFS	Frontage	Depth 20	Area 400	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding Draw of Lots / Bidding	5	3
840	Patnam Village, Kadiri Mandal, Not on NH/SH	SRI SATHYA SAI	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
841	Palasamudram Village ,Gorantia Mandal (Not on NH/SH)	SRI SATHYA SAI	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
842	Chigicherla Village, Dharmavaram Mandal Not On NH/SH	SRI SATHYA SAI	Rural	60	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
843	Tanakallu Village And Mandal Not On NH/SH	SRI SATHYA SAI	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
844 845	Jonnalakothapalli Village , Mudigubba Mandal Not On NH/SH Kotlapalli Village , Puttaparthi Mandal Not On NH/SH	SRI SATHYA SAI SRI SATHYA SAI	Rural Rural	50 50	SC SC	CFS CFS	20	20	400 400	0	0	Draw of Lots Draw of Lots	0	2
846	Thanapalle Village on Hotel Taj Tirupati -Thanapalle road, Tirupati Rural Mandal Not on NH/SH	TIRUPATI	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
847	S.V Gosamrakshana Saala to Mahila university junction on Thummalagunta main road	TIRUPATI	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
848	Jammalamadugu to Peddapasupula road (Not on NH/SH)	Y.S.R	Rural	55	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
849 850	Proddatur To Duvvur Road from Kamanuru to Duvvur, Not On NH/SH	Y.S.R Y.S.R	Rural Rural	80 100	OPEN OPEN	DC DC	20	20 25	400 500	16 16	35 35	Draw of Lots Draw of Lots	5	4
851	Within Khajipet Village from Gandhi statue to NH junction (Not on NH/SH) Uppamaguluru village on Boppudi-Kotavaripalem road, Ballikurava mandal not NH/SH	BAPATIA	Rural	65	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
852	Thurpu palem village (on Arepalli to Nagaram road) , Cherukupalle mandal	BAPATLA	Rural	65	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
853	Medarmetla Village on Addanki-Medarametla Main road, Korisapadu Mandal not on highway	BAPATLA	Rural	130	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
854	From Kunderu Bridge to Mannam Pride apartments on Chirala- Ramapuram Road kothapeta panchayat. (Not on NH/SH)(Vetapalem Mandal)	BAPATLA	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
855 856	Epurupalem village on Epurupalem to devi nuthala road,Chirala mandal not on NH/SH Peteru village (on Karumuru to repalle road) , Repalle Mandal	BAPATLA BAPATLA	Rural Rural	60 60	SC ST	CFS CFS	20	20	400 400	0	0	Draw of Lots Draw of Lots	0	2
857	Takkellapadu Village in Mandavalli Mandal (Not on SH/NH)	ELURU	Rural	65	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
858	Amaravathi village in Kalidindi Mandal (Not on SH/NH)	ELURU	Rural	65	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
859	WITH IN 1KMS FROM CARGIL INDIA PVT LTD,MORSAPUDI (HANUMAN JUNCTION - NUZVID ROAD) & WITH IN MORSAPUDI VILLAGE LIMITS, NOT ON SH/NH	ELURU	Rural	48	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
860	RAMASINGAVARAM VILLAGE, PEDAVEGI MANDAL (ON MDR-PEDAVEGI - RAMASINGAVARAM ROAD)	Eluru	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
861 862	RAJAVARAM VILLAGE, KOYYALAGUDEM MANDAL(ON GANGAVARAM- IS JAGANADHAPURAMROAD) JONNALAGADDA VILLAGE, GUNTUR EAST MANDAL (ON ROAD CONNECTING JONNALAGADDA VILLAGE	ELURU GUNTUR	Rural Rural	80 50	OPEN OBC	DC DC	20	20	400	16 16	35 35	Draw of Lots Draw of Lots	5	3
863	AND GUNTUR AMARAVATI SH) - NOT ON SH BETWEEN PERECHERLA AND CHINAPALAKALURU (ON PERECHERLA - CHINAPALAKALURU ROAD NOT ON NULL)	GUNTUR	Rural	50	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
864	PONNEKALLU VILLAGE (ON ROAD CONNECTIONG RAVELA AND GUNTUR AMARVATI SH), TADIKONDA MANDAL	GUNTUR	Rural	50	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
865	MALKAPURAM VILLAGE, THULLURU MANDAL (ON ROAD CONNECTING MANDADAM AND VELAGAPUDI)	GUNTUR	Rural	120	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
866	MUNNANGI VILLAGE, KOLLIPARA MANDAL (ON ROAD CONNECTING VIJAYAWADA CLUB AND HANUMANPALEM)	GUNTUR	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
867	PEDDAMADDALI VILLAGE IN PAMMARU MANDAL NOT ON NH/SH(ELAMARRU ROAD)	KRISHNA	Rural	46	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
868 869	VISWANADHAPALLI VILLAGE IN KODURU MANDAL NOT ON NH Nandivada Village in Nandivada Mandal (Not on SH/NH)	KRISHNA KRISHNA	Rural Rural	46 65	SC OPEN CC 1	CFS DC	20	20	400 400	0 16	0 35	Draw of Lots Draw of Lots	5	4
870	GODAVARRU VILLAGE IN KANKIPADU MANDAL(KANKIPADU-ROYYURU ROAD)	KRISHNA	Rural	100	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
871	Kesarapally Village in Gannavaram Mandal (Not on SH/NH)	KRISHNA	Rural	55	OBC CC 1	DC	20	20	400	16	35	Draw of Lots	5	3
872 873	MOPIDEVI VILLAGE NOT ON NH/SH IN MOPIDEVI MANDAL(MOPIDEVI- KOKKILIGADDA ROAD)	KRISHNA KRISHNA	Rural	46 46	OPEN	DC	20	20	400 400	16	35	Draw of Lots	5	4
873 874	MANDAPAKALA VILLAGE IN KODURU MANDAL NOT ON NH/SH(NAGAYALANKA-KODURU ROAD) KODURU ON VULLIPALEM ROAD IN KODURU MANDAL NOT ON SH/NH	KRISHNA	Rural Rural	46	OPEN	DC DC	20	20	400	16 16	35 35	Draw of Lots Draw of Lots	5	3 4
875	YARLAGADDA TO VAKKALAGADDA ROAD,CHALLAPALLI MANDAL	KRISHNA	Rural	46	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
876	PEDAPULIPAKA VILLAGE IN PENAMALURU MANDAL NOT ON NH/SH(Towards Vijayawada-Tadigadapa)	KRISHNA	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
877	Within 2KM from SH192 junction on Bhimavaram Road, Makkapeta village, Vatsavai mandal- not on NH/SH	NTR	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
878	WITH IN 3KM FROM IRR- VIJAYAWADA TOWARDS MUSTABAD VIA TATA JASPER INDUSTRIES STOCK YARD , NOT ON SH/NH/NOT IN MUNICIPAL LIMITS	NTR	Rural	48	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
879	GULLAPUDI VILLAGE ON TIRUVURU-TUNIKIPADU ROAD(Gampalagudem mandal)	NTR	Rural	60	OPEN CC 2	DC	20	20	400	16	35	Draw of Lots	5	4
880	Thotacherla village on Thotacheral -Venkatapuram Road, Penuganchiprolu mandal- not on NH/SH	NTR	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
881	Paritala village on Atkur Road, Kanchikacherla mandal- not on NH/SH	NTR	Rural	70	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

Part	SI. No.	Corporation Limited (IOCL) proposes to appoint Retail Outlet dealers in ANDHRA PRADESH State as per Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	mension (ir e Site (in Sq.		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
The second state of the chemical or whose with applicate for minimal bytes 1, another part of the flat part of the chemical or whose with applicate for minimal bytes 1, another part of the chemical or whose with applicate for minimal bytes 1, another part of the chemical or whose with applicate for minimal bytes 1, another part of the chemical or whose with a part of the chemi	1	2	3	4	5	6	7		8		9a	9b	10		12
Margine / Rest Marg															
March of Stage of Control Stage of Con	* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shou	ld have firm offer for the same.												
March Marc		Mulanadu villane oo Katikalanudi. Modenalli raad connectins to NHSS. Ibrahimaatnam mandal. Net oo				OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH					requirement for operation of RO (Rs. in Lakhs)	for development of infrastructure at RO (Rs. in Lakhs)			
Part	882		NTR	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Bits		Vellaturu Village, Bollapalli Mandal (On Vinukonda- Gutlapalle - Ravulapuram Road)												_	3
BANDO Sept. Sep. Sept. Sept. Sept. Sept. Sept. Sept. Sept. Sept.		Narasaraopeta RTA office to Yallamanda (On Kotappa Konda Road), Narsaraopeta Mandal							_						3
BB		BHRUGUBANDA Village(on Dodleru -Bhrugubanda road) , Sattenapalli Mandal													3
SET STORY IN MANUSCRAMPS MANUSCRAFT (MISSTAND CONTROL AND MISSTAND C															4
Best Semishbak urbageton analogoed to Remainbak urbageton mande, PALANGU Royal 75 OPEN D.C. 20 20 400 16 35 Draw of Lets 5		BETWEEN MANUKONDAVARIPALEM AND UPPALAPADU (ON CHILAKALURIPETA - PEDANANDIPADU													4
Beg	889		PALNADU	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1972 1972 1972 1973															2
															4
BPS Ungoughted Village on Unique Destancial Mendal on (Reframemodram Phobagelli Rose) PRAASAMM Rural 78 OFFN DC 20 20 400 16 35 Draw of Lots 5															4
PRIOR Dispugniturium vision on Upographicum vision and on construction and on construction and construct															4
B86 OODRINARADU UNIQUE, TALLUR MANDALO, No. (Rigineguli-Ess Cargavaram Road) PRAASAM Rural 72 SC CF 20 20 400 0 0 Draw of Less 5															4
B87															2
888 On Budderolu Road Via Verkammapalem (Manubolu Mandal), Within SKM distance from Ni16 Junction S			SRI POTTI SRIRAMULU NELLORE	Rural							16	35		5	4
Part	898		SRI POTTI SRIRAMULU NELLORE	Rural	48	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
Mandals 1900 Mandals	899		SRI POTTI SRIRAMULU NELLORE	Rural	50	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	900	Mandal)	SRI POTTI SRIRAMULU NELLORE	Rural	95	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
900 On Verkhalzachlam-Kasumur Broad, From (Phit5 Junction) To (Kasumur Dargah), SRI POTTI SRIRAMULU NELLORE Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0		limits)(Kovvur Mndal)													4
WITHIN 2 KMS FROM BORRA JUNCTION, ANANTHAGIRI MANDAL, ON MULYAGUDA BORRA CAVES						0.1								-	4
SOLITION ROAD ON MOR ALLOH SH HARAMA RUU RUTal 80 ST CFS 20 20 400 15 35 Draw of Lots 5	903		SKI POTTI SKIKAMULU NELLORE	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
NARASINGAPALLI, KASIMKOTA MANDAL TO KONDAKARLA, ATCHUTAPURAM MANDAL VIA		ROAD ON MDR										· ·			2
Section Sect															
908 JAMMADEVIDETA VILLAGE (ION WADDADL-KINTALI MAIN ROAD), MADUGULA MANDAL ANAKAPALLI Rural 80 OPEN DC 20 20 400 16 35 Draw of Lots 5	-	CHUCHUKONDA (NOT ON NH AND SH)												-	4
908 IAMMADEPIPETA VILLAGE (RO WADDADD-KINTALI MAIN ROAD), MADUGULA MANDAL ANAKAPALII Rural 80 OPEN DC 20 20 400 16 35 Draw of Lots 5		NATHAVARAM MANDAL ON MDR (NOT ON SH)													4
910 PAYAKRADPETA VILLAGE RAD MANDAL (NOT ON SH AND NH)	908		ANAKAPALLI	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
STANDA (NOTO ON SH)	909	PAYAKRAOPETA VILLAGE AND MANDAL (NOT ON SH AND NH)	ANAKAPALLI	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
912 KALDHARI VILLAGE IN UNDRAJAVARAM MANDAL ON TETALI -MUNIPALLI ROAD EAST GODAVARI Rural 80 OPEN DC 20 20 400 16 35 Draw of Lots 5		ROAD (NOT ON SH)													2
PAIACHARIA REVENUE VILLAGE (RAGHUNATHAPURAM VILLAGE (ON SRIRAMPURAM ROAD) EAST GODAVARI Rural 80 OPEN DC 20 400 16 35 Draw of Lots 5															4
914 GOKAVARAM VILLAGE (GOKAVARAM TO INDUKURU ROAD), GOKAVARAM MANDAL EAST GODAVARI Rural 80 OPEN DC 20 20 400 16 35 Draw of Lots 5 915 Markondapadu Village, Chagalu Mandal on Dharavaram - Pasivedala Road EAST GODAVARI Rural 80 OPEN DC 20 20 400 16 35 Draw of Lots 5 916 On Old Kathipudi Road Connecting NH216 to NH15 via Kathipudi RTC Complex, Kathipudi, Sankavaram Mandal via Virava on the Major KAKINADA Rural 80 OBC DC 20 20 400 16 35 Draw of Lots 5 917 Form Faktuddinpalem, Pithapuram Mandal to Divili, Peddapuram Mandal via Virava on the Major KAKINADA Rural 80 OBC PH DC 20 400 16 35 Draw of Lots 5 OBJUST (ROAD) KAKINADA Rural 80 OBC PH DC 20 400 16 35 Draw of Lots 5		PALACHARLA REVENUE VILLAGE (RAGHUNATHAPURAM VILLAGE ON SRIRAMPURAM ROAD)													4
915 Markondapadu Village, Chagallu Mandal on Dharavaram -Pasivedala Road EAST GODAVARI Rural 80 OPEN DC 20 20 400 16 35 Draw of Lots 5 916 Mandal (Not on NH) Mandal (Not on NH) Rural 80 OBC DC 20 20 400 16 35 Draw of Lots 5 917 From Fakruddinpalem, Pithapuram Mandal to Divili, Peddapuram Mandal via Virava on the Major District Road Rural 80 OBC PH DC 20 20 400 16 35 Draw of Lots 5 On The propagation to Ready within The propagation to Ready William Language to Ready within The propagation to Ready William Language to Ready within The propagation to Ready William Language to Ready within The propagation to Ready William Language to Ready William Language to Ready William Language to Ready William Language to Ready William Langu	914		EAST GODAVARI	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
916 On Old Kathipudi Road connecting NH216 to NH16 via Kathipudi RTC Complex, Kathipudi RTC															4
Mandal (Not on NH) 917 Form Fakruddingalem, Pithapuram Mandal to Divili, Peddapuram Mandal via Virava on the Major KAKINADA Rural 80 OBC PH DC 20 20 400 16 35 Draw of Lots 5 Draw of Lots OBC PH DC 20 20 400 16 35 Draw of Lots	916			Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
District Road On The product Pood within The program William Limits Vakinada Pural Mandal/MOT	-	From Fakruddinpalem, Pithapuram Mandal to Divili, Peddapuram Mandal via Virava on the Major													3
918 ON NH/SH) DC 20 20 400 16 35 Draw of Lots 5		On Thammavaram to Panduru Road within Thammavaram Village Limits, Kakinada Rural Mandal(NOT													4

Indian Oil Corporation Limited (IOCL) proposes to appoint Retail Outlet dealers in ANDHRA PRADESH State as per following details:

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di	imension (ii e Site (in Sq		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to make the													
* The site s	hould either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant shoul	d have firm offer for the same.	1							1			1	
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 ST CC 1 ST PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
919	From Annavaram, Sankavaram Mandal to Kothapalli Vilalge, Thondangi Mandal on Annavaram- Danavaipeta Road	KAKINADA	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	FROM THAMARADA VILLAGE, KIRLAMPUDI MANDAL TO MARLAVA VILLAGE, PEDDAPURAM MANDAL ON THAMARADA-PEDDAPURAM ROAD	KAKINADA	Rural	80	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
921	Goppili, Meliaputti Mandal to Palasa, Palasa Mandal (not in muncipality /NH/SH)	SRIKAKULAM	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
922	RAGOLU, SRIKAKULAM MANDAL TO KOTHAVALASA, AMADALAVALASA MANDAL (NOT ON NH/SH)	SRIKAKULAM	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
923	Narasannapeta Main Road,, Narasannapeta Mandal (From Pallipeta Junction to Padmavathi Junior college Jn) Narasannapeta Revenue Village Not on NH/SH	SRIKAKULAM	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
924	Sompeta to baruva Junction (in Sompeta Mandal) (Not on NH / SH)	SRIKAKULAM	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	Main Road (From NH Rest area near Haripuram to Sri devi Modern Rice mill , Haripuram), Haripuram, Mandasa Mandal (Not on NH/SH)	SRIKAKULAM	Rural	80	OPEN PH	DC	20	20	400	16	35	Draw of Lots	5	4
926	Tekkali main road (From APSRTC Depot, Tekkali to hanuman statue near NH-16 inter section)Tekkali Revenue village, Tekkali Mandal, not on SH/NH	SRIKAKULAM	Rural	80	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
	FROM VENKATAPURAM VILLAGE, PADMANABHAM MANDAL TO MAJJIVALASA VILLAGE, BHEEMUNIPATNAM MANDAL ON MAIN ROAD VIA REVIDI VILLAGE	VISAKHAPATNAM	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	ANANDAPURAM VILLAGE, ANANDAPURAM MANDAL TO PANDRANGI VILLAGE, PADMANABHAM MANDAL (ON ANANDAPURAM to BONI Main Road) NOT ON NH	VISAKHAPATNAM	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	Within 1 Km on either side of Mentada Sub Station, Mentada Mandal, on Iddanavalasa Road	VIZIANAGARAM	Rural	80	OBC CC 1	DC	20	20	400	16	35	Draw of Lots	5	3
930	Within 6.5 Kms from MPUP school, Musiram, Kothavalasa Mandal, towards Kothavalasa on Kothavalasa - Devarapalli Road	VIZIANAGARAM	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
931	MANDAPAKA VILLAGE ON BALLIPADU-PAYDIPARRU ROAD, TANUKU MANDAL	WEST GODAVARI	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
932	CHINAMIRAM VILLAGE LIMITS (On Kolleru - Bhimavaram Road (OR) Chinamiram - Gollavanipeta Road), Bhimavaram Mandal	WEST GODAVARI	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
933	LAKSHMANESWARAM VILLAGE, NARASAPURAM MANDAL (NARSAPURAM - KARIMISETTI VARI PALEM ROAD)	WEST GODAVARI	Rural	80	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
934	PEDATADEPALLI TADEPALLIGUDEM MANDAL ON RAMANNAGUDEM -PEDATADEPALLI ROAD	WEST GODAVARI	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
935	KAZA VILLAGE, YELAMANCHILI MANDAL (PALAKOL - KAZA ROAD)	WEST GODAVARI	Rural	80	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Websites (www.iod.com / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION, BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (details below), should be submitted on-line by 27.09.2023.

Type of RO	Type of Site	Category	Application	Type of RO	Type of Site	Category	Application
			fee (in Rs.)				fee (in Rs.)
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		cc	OBC	4000
Regular ROs	CC	OPEN	10000	Rural ROs	cc	OPEN	8000
	DC	OBC	5000		DC	OBC	4000
	DC	OPEN	10000		DC	OPEN	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 01 year therafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel / withdraw / amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspaper / English language vis a vis vernacular / Hindi Newspaper / Language, the direction / information indicated in English Newspaper / English language would prevail. Similarly, contents of Brochure in English language will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address.

	Contact No.	Districts	
Address Visakhapatnam Divisional Office,	Contact No.	Districts	
8th Floor, LIC Buildings,		Alluri Sitharama Raju, Anakapalli, East Godavari, Kakinada,	
Jeevan Prakash Marg,	0891 - 2854806	Ambedkar Konaseema, Parvathipuram Mar	
Jeevitha Bhima Road,	0891 - 2854806	Visakhapatnam, Vizianagaram & West Godavari unde	
Visakhapatnam. PIN - 530 004.		Pradesh and YANAM under PUDUCI	HERRY UT.
Andhra Pradesh.			
		1	
Vijayawada Divisional Office,			
Indian Oil Corporation Limited, 3rd Floor, GVR Towers,	_		
Opp. Novotel Hotel,	0866-2463655	Bapatla, Eluru, Guntur, Krishna, SPS-Nellore	e, NTR, Palnadu &
Bharathi Nagar, Vijayawada,	_	Prakasam.	
PIN - 520 008.			
Andhra Pradesh.			
TIRUPATI Divisional Office,	<u> </u>		
Door No.8/115/1, 1st Floor,	-	Ananthapuramu, Annamaya, Chittoor, YSR, Ki	urnool Nandval S
M.M. Complex , R.C. Road, Royal Nagar,	0877-2289960	Sathya Sai & Tirupati.	rnooi, Nandyai, Si
Tirupati. PIN - 517 501.	=	Satiya sar & mupati.	
Andhra Pradesh.			
	•		
Divisional Office	DISTRICT	IOCL FIELD OFFICER	MOBILE NUMB
	ALLURI SITHARAMA RAJU	Nagireddi Srinivasa Rao	9448285589
	ANAKAPALLI EAST GODAVARI	Nagireddi Srinivasa Rao K Vishnu	9448285589
		K Vishnu M. Kishore	9491030195 8319630694
	KAKINADA	D Mula Reddy	9490958018
	Dr. BR Ambedkar Konaseema	D Mula Reddy	9490958018
	PARVATHIPURAM MANYAM	Yogesh Kumar	8847641923
VISAKHAPATNAM Divisional Office	SRIKAKULAM	G Shanmukheswhara Rao	9490958089
	VISHAKHAPATNAM	K Sai Prakash	9490958095
	VISHAKHAFATNAWI	Nagireddi Srinivasa Rao	9448285589
	VIZIANAGARAM	S Kavya Charitha	7989075552
	-	Yogesh Kumar	8847641923
	WEST GODAVARI	S Kusaraj J Vasu	9490958191
		1 Agen	9896844534
IOCL Divisional Office	DISTRICT	IOCL FIELD OFFICER	MOBILE NUMB
	Ananthapuramu	Sri A Maheswara Reddy	9182255856
		Sri Akshay Verma	8604590509
		Sri Ajay Kumar	9490958078
	ANNAMAYYA	Sri P Akhilesh Kumar	8332960297
		Sri Aman	7062114405
	CHITTOOR	Sri P Akhilesh Kumar	8332960297
TIRUPATI Divisional Office	KLIBNIQOI	Sri Aman	7062114405
TIRUPATI Divisional Office	KURNOOL NANDYAI	Sri S Prathap	7062114405 9490958105
TIRUPATI Divisional Office	NANDYAL	Sri S Prathap Sri Harish Raja	7062114405 9490958105 9148978751
TIRUPATI Divisional Office	NANDYAL SRI SATHYA SAI	Sri S Prathap Sri Harish Raja Sri K Vinith	7062114405 9490958105 9148978751 9014349685
TIRUPATI Divisional Office	NANDYAL	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar	7062114405 9490958105 9148978751 9014349685 8332960297
TIRUPATI Divisional Office	NANDYAL SRI SATHYA SAI TIRUPATI	Sri S Prathap Sri Harish Raja Sri K Vinith	7062114405 9490958105 9148978751 9014349685 8332960297 8143216916
TIRUPATI Divisional Office	NANDYAL SRI SATHYA SAI	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar	7062114405 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478
	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar	7062114405 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958078
TIRUPATI Divisional Office IOCL Divisional Office	NANDYAL SRI SATHYA SAI TIRUPATI	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhliesh Kumar Sri N Sarath Kumar Sri N Sirath Kumar Sri K Nivas Sri Ajay Kumar	7062114405 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958078
	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Niwas Sri Ajay Kumar IOCL FIELD OFFICER Avvaru Venkata Siva	7062114405 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958078 MOBILE NUM 9490958
	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhiliesh Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar OCL FIELD OFFICER AWARU VENKATA SIVA BEHARA AJAY KUMAR	7062114405 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958078 MOBILE NUM 9490958
	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Swarath Kumar Sri K Nivas Sri Ajay Kumar OCL FIELD OFFICER Avvaru Venkata Siva BEHARA AJAY KUMAR NALLI SRIKANTH	7062114405 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958078 MOBILE NUM 9490958 9490958
	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nixas Sri Ajay Kumar IOCL FIELD OFFICER Awaru Venkata Siva BEHARA AJAY KUMAR NALLI SRIKANTH A Srikanth Reddy	7062114405 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958078 MOBILE NUM 9490958 9490958 9490958
	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar IOCL FIELD OFFICER AWAZIV Venkata Siva BEHARA AJAY KUMAR NALLI SRIKANTH A Srikanth Reddy Velancia Reginald	7062114405 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958078 MOBILE NUM 9490958 9490958 9490958
	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhliesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar OCL FIELD OFFICER Avvaru Venkata Siva BEHARA AJAY KUMAR NALLI SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi	7062114405 9490958105 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958078 MOBILE NUM 9490958 9490958 9490958 9490958 9490958
	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA ELURU	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar OCL FIELD OFFICER AWARU VENKATA SIVA BEHARA AJAY KUMAR NALLY SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi Awaru Venkata Siva	7062114405 9490958105 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958078 MOBILE NUM 9490958 9490958 9490958 9490958 9490958
	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhliesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar OCL FIELD OFFICER Avvaru Venkata Siva BEHARA AJAY KUMAR NALLI SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi	7062114405 949058105 949058105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958
	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA ELURU	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar OCL FIELD OFFICER AWARU VENKATA SIVA BEHARA AJAY KUMAR NALLY SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi Awaru Venkata Siva	7062114405 9490958105 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958078 9490958 9490958 9490958 9490958 9490958 9490958
IOCL Divisional Office	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA ELURU	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar IOCL FIELD OFFICER AWARU VENKATA SIVA BEHARA AJAY KUMAR NALLI SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi Awaru Venkata Siva BEHARA AJAY KUMAR	7062114405 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958 9490958 9490958 9490958 9490958 949958 949958 949958
	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA ELURU GUNTUR	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar OCL FIELD OFFICER Avvaru Venkata Siva BEHARA AJAY KUMAR NALLI SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi Avvaru Venkata Siva BEHARA AJAY KUMAR B.Rajiv Kumar	7062114405 949058105 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958
IOCL Divisional Office	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA ELURU GUNTUR KRISHNA	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar IOCL FIELD OFFICER AWARU Venkata Siva BEHARA AJAY KUMAR NALLI SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi Awaru Venkata Siva BEHARA AJAY KUMAR B. Rajiv Kumar Velancia Reginald A Srikanth Reddy	7062114405 9490958105 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958078 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958
IOCL Divisional Office	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA ELURU GUNTUR	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar OCL FIELD OFFICER AVVARU Venkata Siva BEHARA AJAY KUMAR NALLI SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi Avvaru Venkata Siva BEHARA AJAY KUMAR B. Rajiv Kumar Velancia Reginald A Srikanth Reddy Devarapalii Naresh	7062114405 9490958105 9499958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958 9490958 9490958 9490958 9490958 949958 949958 949958 949958 949958
IOCL Divisional Office	NAMUYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA ELURU GUNTUR KRISHNA NELLORE	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Niwas Sri Ajay Kumar OCL FIELD OFFICER Awaru Venkata Siva BEHARA AJAY KUMAR NALU SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi Awaru Venkata Siva BEHARA AJAY KUMAR B.Rajie Vumar Awaru Venkata Siva BEHARA AJAY KUMAR B.Rajie Vumar Velancia Reginald A Srikanth Reddy Devarapalli Naresh Nallagonda Srinivasa Rao Nallagonda Srinivasa Rao	7062114405 9490958105 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958
IOCL Divisional Office	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA ELURU GUNTUR KRISHNA	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar IOCL FIELD OFFICER AWARU Venkata Siva BEHARA AJAY KUMAR NALLI SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi Awaru Venkata Siva BEHARA AJAY KUMAR B. Rajiv Kumar Velancia Reginald A Srikanth Reddy Devarapalli Naresh Nallagonda Srinivasa Rao K VARA P RASAD	7062114405 9490958105 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 9490958078 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958
IOCL Divisional Office	NAMUYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA ELURU GUNTUR KRISHNA NELLORE	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar NOLL FIELD OFFICER AVVARU VENKATA SIVA BEHARA AJAY KUMAR NALL SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi Avvaru Venkata Siva BEHARA AJAY KUMAR B. Rajiv Kumar Velancia Reginald A Srikanth Reddy Devarapalli Naresh Nallagonda Srinivasa Rao K VARA PRASAD A Srikanth Reddy	7062114405 9490958105 9148978751 9014349685 9312960297 8143216916 9963373478 9490958 9490958 9490958 9448285 9490958 949958 949058 949058 949058 949058 949058 949058
IOCL Divisional Office	NANDYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA ELURU GUNTUR KRISHNA NELLORE	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Niwas Sri Ajay Kumar IOCL FIELD OFFICER Awaru Venkata Siwa BEHARA AJAY KUMAR NALU SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi Awaru Venkata Siwa BEHARA AJAY KUMAR B. Rajievi Awaru Venkata Siwa BEHARA AJAY KUMAR B. Rajievi Awaru Venkata Siwa BEHARA AJAY KUMAR B. Rajievi Kumar Velancia Reginald A Srikanth Reddy Devarapalli Naresh Nallagonda Sriniwasa Rao K WARA PRASAD A Srikanth Reddy BARLA SRIRAMULU	7062114405 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478 94909580 94909580 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958 9490958
IOCL Divisional Office	NAMUYAL SRI SATHYA SAI TIRUPATI YSR Kadapa DISTRICT BAPATLA ELURU GUNTUR KRISHNA NELLORE	Sri S Prathap Sri Harish Raja Sri K Vinith Sri P Akhilesh Kumar Sri N Sarath Kumar Sri N Sarath Kumar Sri K Nivas Sri Ajay Kumar NOLL FIELD OFFICER AVVARU VENKATA SIVA BEHARA AJAY KUMAR NALL SRIKANTH A Srikanth Reddy Velancia Reginald K Sanjeevi Avvaru Venkata Siva BEHARA AJAY KUMAR B. Rajiv Kumar Velancia Reginald A Srikanth Reddy Devarapalli Naresh Nallagonda Srinivasa Rao K VARA PRASAD A Srikanth Reddy	7062114405 9490958105 9148978751 9014349685 8332960297 8143216916 9963373478

PRAKASAM	Paravasthu Ramprasad	8500602819
FRANAJAWI	NALLI SRIKANTH	9490958077